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Directions (1-4): Th HAT SAAXIT HRN | o9 eql 3R LA P T 3YC Ufed &1 wTell @ af a8
TP WU # TP ORI gy &1 ureq #d gU S qaareud el g1 Fufif@d s9ge ok
JIATRIT BT TP SGTeUT ¢ |

3UC- 48724 87235 92846 38273 74635

dUr1: 32608 56115 18724 24121 28515

TUMI: 56115 28515 24121 32608 18724

TOTII1:36 49 36 169 09 25 64 64 36 225

TOTIV: 85 205 34 128 261

TXOTV: 16985 49205 4934 121128 81261

3 =ROT v Sog=yT &7 SHfaH 90T g1 SRIad =Rl H 3790l U U IRied a9 &

S9R, Fafafad ude vy H 6T e 3Ye & fou Suged =Rul &1 udl v

gHYc: 28465 79784 63452 34867 93275

Q1. TRUT 1 § JIH BT 3R JaQ IS} T & fF &7 3R 1 87
pmarks: 1, nmarks: 0.25

(a) 45322

(b) 31052

(c) 50890

(d) 50908

() S A Pl e
Q2. Frafufea ¥ 3 =i It = == 11 # T Bk 9 JRl 68N & 919 | gt SBI 32

pmarks: 1, nmarks: 0.25
(@) 121

(b) 25

(c) 81

(d) 36

() 319 ¥ IS el
Q3. 3ifas TRUT ¥ Waw 931 W& & UG 3R Sifay i &SIl &1 UTEd T 82

pmarks: 1, nmarks: 0.25
(a) 54

(b)12

(c) 36

(d) 8

(e)9

Q4. FFrafafea & & wi-ar sifaw & guRT TRUr g2

pmarks: 1, nmarks: 0.25
(a) 128 16 122 09 117

1|
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(b)7135 6632 310 160 127
(c)128 106 122 90 117

(d)351532 312 164 127

(e) STH A BIs 8!

Directions (5-9): fFraferfad SIM® R} &1 earyd® sreaa HIfre 3R fou e uel & 3w difvmei

U% ARG H FiEd T o w@ford €, e Hfora 1 &l e § o1ifd; Tele A, Tkie B & U A §1 U U favd
TS aTeh HiSTd TR g1 § Qe 7at Afa @ R Tgar g1 T, u I &l Hiotar i g1 81 X, T & gféor ufgm
TgdT § Afor St Sférur ufm 7 g1 s 3R T & S oI HiSTel T 3R 81 X 3R s T &1 91 & Wi | |d
B1's 3R X P s ) HTell B G s 3R R & § 1 ATl 1 G el 3 81 R & Y A Bl Tt gl
g1], R P 3l SR UA A I|aT g1 X & =iId I ATl &t T=A1, 0 B HW o1 ARl Bt G b JHH B, O
S R AT & 3l SHUR TEAT B | K, 0 b Tele F &l AT e gt g | W 3R Q & d1d hadl Teb HiSTe &1 3R
21'W, S 3R U B 1 & Sl S B g g1 s 3R T ST arelt HfoTel R 81 T8d |1 P, Q & IR Uiy o
g1 8 3R U JH shHifhd AT TR IgdT 8 | P 3R W 3ITT-3 T ATH & Tl HXgd &1 Q, S P SUR IEal g
W 3R U 3{c¥T-3{eT 9T aTd Ui A 38 & |

Q5. SHRT H fha- wie 82
pmarks: 1, nmarks: 0.25
(a) 26

(b) 24

(c) 22

(d) 20

(e) 18

Q6. FHfRad ule & ¥ IR Ue Ffyd dier ¥ T0F § iR 39 UHR T 99 81 &, dl Fyfaad 3 9 &
39 g I Tefdd T8t 82

pmarks: 1, nmarks: 0.25

(@]

(b) P

(AQu

(d)S

(e)W

Q7. i & A & I/ YT Id 8/8?
1] 999 S U} AT IR Y81 |

1. SARA H 12 Hiorel ©

1L K 3R T & o1 99 T # Jiora g

pmarks: 1, nmarks: 0.25

(a) Pad |

(b) Pad II

(¢) 1 3R 1Ml
(d) 11 3R 111 ST
(e) gt 1, 11 3R 111

2 |
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8. Fufeiad # @ feg dfa W Tedie?
pmarks: 1, nmarks: 0.25

(a) 124

(b) 10a

(c) 9at

(d) 7d¥

(e) 11df

Q9. Fafeifea ¥ @ 1 T afe p & 2o gd # 3gdT ®?

pmarks: 1, nmarks: 0.25
(@T
(b)U

(c)S
(dwW

(e) T 3R W gl

Directions (10-10):Wmaﬁ%ﬁmwmﬁﬁwqqﬁwjﬁaﬁﬁ?ﬂﬁmwmaﬁ
B @IS Hd §U et 815 B1¢ A BT % ol R & S15av & b d g+ wR Wt A ug=i=n siferand
2, TP 9181 B! JTdoI=1 VI AT A1 8| 8T8 BIS 1 H8T P Th HRP Y& Had & ¥U d H1d
P18, S ISP aTad & YR P A |

Q10. SWRITd HY I fFufifEd & & S I1 W a1 51 Tl 37

() AT HR H 3Hd 84 W H ARS g1 & HaH! &1 a1 H |

(11) AT & SR dT tharg SITevT iifs PIc A AR P! "IR&f Had” HRR [GaT |
(111) BT8 DI & Hhad & d1G facdl B TSH! O HH B fa@a |

pmarks: 1, nmarks: 0.25

(a) A 111

(b) Fad [ 3R 11
(c) pad 11 3R 111
(d) HaA I

(e) 4t 1, 11 3R 111

Directions (11-13): Eﬁﬁmqﬂiﬁﬁﬁlﬁmw W%ﬂﬁ_cl%
X@Y BT X, Y BTG

X#y BT 3 X, Y B AT 8

X$Y BT 34 § X, Y BT SttaTendi g

X%Y BTHIEX, Y DI TE §

X*Y BT I g X, Y DI I8 8

3 |
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X&Y BT I B X, Y BT R
X+Y BT 3 X, Y BT VAR B

D Y: VSA+B, E&T, C#S*T, B@H%CSE

Q11.af¢ ‘K*B, N$K, M#N’, @Y B T §&R-1-¢1 vV & THIS 9 fHd R Adfta &2
pmarks: 1, nmarks: 0.25

(a) HTS

(b) alHlq

(o) ¥sT

(d) forerr

OESLEEIERE

Q12. afe R, s BRI §, A pH=m: o == & Ram 3imeam?
R_W@P_Q*W

pmarks: 1, nmarks: 0.25

(a) + %

(b) $, +

() s, #

d @, &

(e) %, #

Q13. afe 'z+w, A FAruferf@aa A @ #i4 z 3 Rier-g9-a1 82
pmarks: 1, nmarks: 0.25

(@T

(b) 9 9 IS Tel

(©S

(d) H

(e)B

Directions (14-15); aﬂmmm@ﬁamﬂqaﬁmeﬁ?ﬁﬁqwmﬁ%waﬂﬁm

Ui 9199 Uh WK ﬁw%wuawcbm@w%ldldﬂ A DI SIdT D P Fiadhe @1 | 9199 E B S1a
C P FWR IW 1 8, Afth Ja8 SR 71 [T AT 8 | 9199 D Dl §iad B P e T8 T@1 a1 81 Ife i F
D WP W SIST AT ], Al ST F $l S B & 12 a1 71t & | 9 S & 1 ¥ SR 6 & HHNT U
T SreT- 31T T H Of¥et i € | aTeg A H 36 ORI € 9T SR B i 1R 32 fawy e ara =i wR T&!
AT ]| ST D & SR &1 U 31fee siay 3@ 7Y & | URiell o) ol T 198 9 3ifids A8 g1 Tl Sia E
3R A8 §a F, 9169 D & Rdbe I AT |

Q14. 9Ta E 3R ST F &} URyell ) H &1 anT feaar g2

pmarks: 1, nmarks: 0.25

4 |
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(a) 54 ORI
(b) 48 ORI
(c) 42 U@
(d) 60 TR
(e) 72 URra

Q15. §TRT D 3R ST B & 14 fhaa sfaq 3@ e 87
pmarks: 1, nmarks: 0.25

(@) Y

(b) i

(c)dIR

(d) gﬁhﬁﬂﬁmwwé

(e)

Directions (16-17): gSAS = FAR B G201 TRRITS 31 & 3MH 910 THRTAS BRIFGTaR™ ATHEAL
B I BT & 9IS, YA T & ANTRSD! fgd, HRd & I Tzl & e eumrft =0 A FwT @
TwTE & e wawt fafaa #= fear| 98 Feu geiids gRTIFaR &I U=l §H1 1R 23 U GSRIEAD
PRI AT &) &6l $I1 & 916 AT g, B A F 17 HRA & A1

Q16. fau T Hy= A FFaferfed o @ &9 91 SIHT ST & 95l 82

() oS WRHR HRFTERERY HHE! & Hfd SIFe s 3R T 5 |

(I1) YRd TRPHR gRT IR SIhT1hR0T A Y= fhar T g |

(1) PRIFTAERY & YHRIAS HHa! & I HR a1 & MY 3 <=0 & M g

pmarks: 1, nmarks: 0.25

(a) Pad 11 3R 111
(b) Pad | 3R 111
(c) Pad I

(d) Had |

(e) 4t 1, 11 3R 111

Q17. el & Tefaurd HeH & 1e Fa1 ufvund 8 g&d 82

() HRA 3T SMYR R oitels T 311 arelt S8HI & it FAeifad s 3|
(1) HRd oias I fFrafd Sk smard w ufady ama|

(111) ST Ficiam & a1 guiicie QR Tegd S|

pmarks: 1, nmarks: 0.25

(a) Pad [ 3R 11

(b) AT III

(c) Had 11 R 111
5 |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

-

(d) pad [ 3R 111
(e) g4t 1, 11 3R 111

Directions (18-21): ?ﬁn's‘rmm'\ﬁﬁ Wﬁqa' 3R Gaftra usi & W S

BE A A, B, C,D,EARFIH UfGd A g Y IR THF HH T TS § | 390 W IIF &1 4 S0 Bt 3R g 3R
T BT E IR BT AR | o1 &l Al & drd SHHITd gol 8 Hi g | o Tt a1 el ITR A1 &feon f=m & =
T B B, $S M g8 d9 R gY, bR 3 3ifam RIM R ug=a 81

AT (A fe=n o 14 Hiex Tadn § SR R T gear g 3R 3o Sifas R & ugaq & fag 20 Hiex Fad
g1 C U Ffgd femn & 107 gaar & iR fR ST gSa1 & 3R 30 3ifdH e dd Ugda- & fot 641 aadi g |
E U M3 G 6 Hiex gadr § 3R fIR a1 ga1 8 $iR 30 Sifd R R UgaH & fag s fiex aaan g
F U fAf3a fezm o 8 Hiex =rerar 8 3R bR a1 g a1 3 3R 3/ SifqH R R ugen & forg 22 Hiex gamr
21 D e R e o 16 e gaar e SR R T gSar g 3R 3= iy R R ugen & fod 6 W gaar
21 B 12 Hlex IR &1 3R Iadl g 3R fh 91 g1 8 3R 31U+ 3ifdH R a&% Ugan & fo ues fAfda e
TTaT & S D & SHfaH R & MU H 71 ¢ 7 3ifam e F & 3ifam Tiaen & gfémogd e B

Q18. A & 3ifa¥ R & YaY H D F1 3ifcH W= $1 fezm 3ra s
pmarks: 1, nmarks: 0.25

(a) STR-d

(b) 3R

(c) cferor-ufgm

(d) STH Y BIE TeT

(e) &far0T-gd

Q19. At sufeaal & A B gt Had 3iftre g3t a9 Fvar a2
pmarks: 1, nmarks: 0.25

(@A

(b) C

(0B

(d) S99 A P Tl

(e) F

Q20. E BT URIH® WM, B $ 3ifaA w4 frg feen A 82
pmarks: 1, nmarks: 0.25

(a) JTR-Gd

(b) GfaroT

(c) farur-ufgm

(d) 3TH Y IS T8I

(e) Gf&OTqd

6 |
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Q21. C 3R F §RT a9 $1 75 g3 & a7 BT 3fcR JId BITI
pmarks: 1, nmarks: 0.25

(a) 10

(b) 12 Wt

(c) TH Y I3 &

(d) 14 |t

(e) 8 |t

Directions (22-24): 13 f3€ 7€ Y Uy # U Uy 3R 9 HY= 1, 11 3R 11 WA &1 3! 98 g
A1 8 fp SY= 3 T ST vy &1 3R 31 & fore wafa 2 ar =g 9 $ul & ufew ik S<R

%%2%wﬁﬁaﬁwﬁwﬁﬁﬁwﬁémmﬁwaﬁ%'l a1, p 3R ¢ & Hem fba aafd

g?ﬂll: K, B% al U g WM W I31 5| K 3R P & &9 &1 Afdd 93 & | B 3R T & g hadl U AT 9ol
|

YT 11: N THHF Al § Sl P P SR 93T 8 | K 3R N B 19 9 Al &l TBAT, D 3R T P &g 9 AfFaat
D TS T TSP Y 3|

PYTIL:F,D P FApcd3T8, DN CH A A TNY M R I3T 8|

pmarks: 1, nmarks: 0.25

(a) TfS HY= 1 3R 11 7 oo 1 STeT T 1Y U 1 IR &1 & fore yaied ©, Safes sy 11  fa mar srer

% BT IR ¢ & (oY HTIRID a1 5 |

(b) afe Tt HYAY, 1, 11 3R 111 BT STeT e 1 U8l 1 IR 21 & forw yafa 78t B

%t%%amqneﬁ?mﬁéawmwéﬁ%%mm‘m%,aa%awmﬁéau&rmwéﬁ%%u&W
|

(d) I A B 1, 11 3R 111 HT ST TH 1Y T BT IR ¢ & fog 3Tae 3 |

(e) Tf HYUT 1 3R 111 H 0T 707 ST U 1Y U8 T IR &4 & fore vafe 3, e oy 1 7 feur man Seruy

B IR o1 & foIL 3mawe® 78l §

Q23. 3113 BN TH-gaR b ATUE -3 fmafi § Wel §1 PR ¢ & <’ A FR F oy Rz d @l 82

FHYT: PR A, PR B P IR I WSl 5, BR B S HR C H U Wel 8| PRE, PR CH Jd A Wl 5

ggqn:WD,WA%Ef\&FUTU@HﬁE@%, FRATN IR GH IR UBA A TSI g HRF, PR E D SR 4
|

HYTI: PR G, PREP SR UM BIRF S UAH TSI 81 PR C, PR A P U A TSI 5|

pmarks: 1, nmarks: 0.25
(a) TfS HY= 1 3R 11 7 oo 71 STeT T 1Y U &1 IR S & fore yaied &, Safes sy 11 H o mar srer

Y BT IR ¢ & (oY HTIRID a1 5 |
(b) Tfe g U=, 1, 11 3R 111 BT STeT ety +ff us o1 SR e & fore uf 81 ]
%q?i?amqna?l?mﬁéawmwéﬁ%ﬁmwf&r%,\Tqﬁaﬁumﬁéau%rmwéﬁ$ﬁm&naw
|
(d) A AT HUA 1, 11 3R 111 BT STET T 1Y U BT IR o o (078 HTIIS ¢ |
7 |
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(e) Tfe HYF 1 3R 111 H T1 71 ST U 1Y UH BT IR o o (074 T &, STaich HY 11 H [ear mar Seruy
BT IR & & foTT I 181 §

Q24. T TS & U URAR H, N, | T fHg TR T&ferd g2

FHYTI: P, | BT Siig-areft g, J oy Fad gl am &1 K, P T HSTReS 81 V, B Bl RIEex-31-dr g |
HYIL: B, ] BT 3D GA ¢ | L BT DIs UeIaR ol 6| K, RPTARL 3 3R V BT Fax-34-9l §
FHYTIIL: L, R DI RCE-ZA-AT8 | R, B BT SHAI T8I 8| C, B BT F-37-@AT 3| N, RSP AT |
pmarks: 1, nmarks: 0.25

(a) TfS B 1 3R 11 H oo 1 STeT Teh 1Y U &1 IR ¢ & foe Ui &, STafes vy 11 H fan ma srer

T 1 IR & & Ty S1aa® Tai gl

(b) afe Tt BT, 1, 11 3R 111 FT STeT e 1 Ul &1 IR 3 & forw yafa 78t B

%t%%a?wnaﬁ?nlﬁéacr%rwrwéﬁ$mmfa%,aaﬁ7$wIﬁéauamwéﬁ$m&nam$
|

(d) TfS AT HUT 1, 11 3R 111 BT STeT TH T1Y U HT IR S & [o18 3MTaRaH g |

(e) TS HYF 1 3R 111 H 01 71 ST U 1Y U T IR 1 & fore vaf &, Safs oy 1 6 fear mar Seruy

B ¢ & Y Smawas T8 8

Directions (25-29): ST ®T SATTYd® (g Sierg 3R e fau e uyl & 3R difvmi

I BF-P, QR S, T, U, 3R V - HAR ¥ IFAR I Teh T8 b fo1T HidhTT aay & HFT A4 ST 8, STt
Toi f 33t A H | udo ufad A 77 Hefmaft & SR SeT-31erT TBAT # o duR fhu|

Q 7 YU SUTeT o AR ot | ford =afdd = 9o &8 v (dR 6T, 98 R & 31d a1 SUrRd g3l S A
SR G 1G] ol qaR Y 3R IAATR B UFT fern | T SR GERT e 31fid ol daR &R arell fad
AMaR e H URT AAT 81 Q3 T T 5 o 31 §=1T, T oA P & 6 o 3ifes §91T1 p 3 9 o 991
Tl Afad & 31 a1 Hal H Ui fodm| 10 TS 991 d1aT dAfad, 8 o §-11 did dAfad & old dgd I
AT | Q A FUAR P YT fera, STaifs v 3 AR DI U feT| R 3IR 6 o §-H dlal adfad o diig 2 fad
| had Udh Afad = gER J 31eft e H o a1 |

Q25. TFAR &I P FaT | fora=t wr feram
pmarks: 1, nmarks: 0.25

(@P

(b)u

(AR

(d)S

(e)T

Q26. IS HH ool fHaA 99187
pmarks: 1, nmarks: 0.25

(@) P

(b) ¥

()R

8 |
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(d) 399 9 P15 ol

(e)T

Q27. P & ¢l fa a1 fva= i1 sama & umr feram
pmarks: 1, nmarks: 0.25

(@8

(b)Q

(c)R

(d)U

(e)T

Qzs. Frafufed uia # ¥ TR v fAf¥a e & Ju § ok sufon e 9yg 79 8| Fafafead s
B 39 JYE | Fafla T8 82

pmarks: 1, nmarks: 0.25

(@) S

(b) P

(T

(Vv

(e)R

Q29. P 3N ¥R TE AP e+ g1 aTa & S foba afaa wem & U ad 82
pmarks: 1, nmarks: 0.25

(a) 4

(b) 2

(c)3

(d)1

(e) 379 A B T

Directions (30-32): FOfiRad ushi #, Uciovl- &, @, % IR $ H1 IuaNT fRgfaRad srdf & ar fear mar g s
& e femmn man g | = AT 71U e Uy 8 Hul & 91¢ 3 Fhy feu e § | e fau T4 el &) 9
AT 8 YA 81 3 TdeTd aa T st gcfid g1d 8 1 9t fesuf o o ok fi qu &% o fgu e fAseef &
P T W 1 32 & ey T 3T 7T w0 1 difches U F SRR B ¢ |

A@BHT S g @it A, BT

AB®HT N g "HITFS A, BE"

A$BHT 3§ "B A, BRI &"

A%BHI R TS A B

Q30.
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CGE
QUK@]& L$R@P
At

1. S K & R T3] g &I GHEAT S
1L ], RETIHA &

LA Q& L Bl THET g
v, 9t k @it oft R ST BT Oad

pmarks: 1, nmarks: 0.25

(a) 111 3R 1V &t
(b) Had |

(c) 1 3R 111 G
(d) Pad IV

(e) Had III

Q31.
U
M%R@0&N&P$S

.59 o FfEaE g AN TS

1L Tt N & s g BT GHET e ©
L. $E M P 0 TH B UG
1v. g1 p @it i R 81 81 9ad

pmarks: 2, nmarks: 0.5
(a) 1 3R 11 ST

(b) Had |

(c) 11 3R 111 G

(d) Pad IV

(e) B III

Q32.

hY-:

C$E%G@B&D

ﬁ"fﬁ?&:

1.4t B & D gH B GG ?
IL.$S B & CEH DI UG8l g
11 gyt ¢ &t ot ¢ T8l sl o
v. g D, ESi ghd ©

pmarks: 2, nmarks: 0.5

(@) 111 3R 1V S

(b) Had |

(¢) 11 3R 111 gt

10 |
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(d) HIA IV
(e) P III

Directions (33-37):?«&“’5‘31?@3% Wuﬁqﬁwwwmﬁamﬁ%wzﬂﬁm

$S I dH XD C, K 3R T (T HH & IfA 9 7d) H TS & SR T axdh W ML 5 | fhet i ww d &g
Y 34fP ST TS | SToRI D F I S S IW M | SR Y, STRI D F HF X A el ¢ | S W, ST Y
S UAHE, Afhd WH KA a1 ¢ | S L, el W b I R 3R TR ITT AT | i o1 9HT e siaq
D 3R ST L & HH: SR 3R - ! 911! § 1 39 Wb H die B Hdl T forH afay R @1 T 8, 39
WP T T S B} G-AT BT 31T & FoTGH ST G RaT T 8| Had §1ed J, §1a R & Sieb SR W7 AT 3|
ST U, ST F & 3l STR-Yd A g, S F ST a1 | o U A g1 T ¢ T Siad o WS, d1ed G 3R sl
S & o9 W S & G- & RER & |

Td% Wh & Sia 1 $ A 1 ORI 5 | IRyal o1 T 0 ¥ W a5, 6 3R 7 BT HHN O | 31§,
ST XP U $3 U a1 STa U | 1T M, STRT P & Sfeur-ufdd & g 3R 39 21 URie €1 % ¢ & 9ad
SR S H URd o1 e, Wb T I Rl Sia | Uiie o e @61 7/3 1 STy A, ST G & (e
a1 g, Afoe 39! URYa ot Ter v Wb H o Sl o T 9 U S g |

Q33. TS W& H A1 A TR RIM IR IW 7T g9 H URya ot $a G fea-t 82

pmarks: 2, nmarks: 0.5
(a) 78
(b) 60
(c) 53
(d) 71

(e) 3TH Y PIS a1
Q34. Fruferfaa & A fey 9T A Tadl e siftre e A uf¥d € ofi foa o A T 8 27

pmarks: 2, nmarks: 0.5
(a) 16T |, P T

(b) STRIF, ¥ C

() S U, RH T

(d) STFT p, ¥SF K

(e) 16T U, WP K

Q35. 39 WP H frd- 91T 7Q U § W61 U@ aia A URIal ot =T 6 BT U &2
pmarks: 2, nmarks: 0.5

(a) B%

(b) UT=

() dRR

(d) <

(e) TTH F IS T

11 |
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Q36. FEfRIfT A AP T FYT I ?

pmarks: 2, nmarks: 0.5

(a) STdY A 3R S99 D TS &1 T H el &

(b) STeRT R & 31 -1 I 7Y ey W SR F b g1 | 3T IR
(c) ST P& Jd | Pl dIa ol W1 AT 8

(d) Ul ST Wb c HI@ TS

(¢) ST U, ST Y & HUR Ueb &) Reb H 7@ AT R

Q37. fruferfad # A o9 a1 fes, fEss M & THH o A 98 @ mar 87
pmarks: 2, nmarks: 0.5

(a) ST oo d 14 ORI &

(b) I ST o) Tek D & JTR-URH A §

(c) TE ST S ST F P Sl = g

(d) T8 S99 ol 39 Wb H a1 71 & Forad 7 A A Sl &

(e) WIS TR T NUR AMfPTITR U F RH A 8

Directions (38-40): SITAPRY HT HTTYd P Sread HIforg 3R 14 f3T e usi & W fifvrw)

Afed fig A RTS8 3R foig E IR ugem anedi g | 98 had U Tieht 31 & 9 Yovd 7, Al 3T I |
ST &1 fed T8 4 fhHl ST BT 3R Iqa 8 3R foig B R UG §1 5] 9, 95 SE SR Y3l 6 31X 3 fopelt
Tf3H BT SR efell § 3R foig ¢ R Ui & | fhr g fth A 1S 3R Yol & 3R <ferv b 3R 5 fobedt =rerct &
3R fdg D R ugaar 3| 3T, aamasm%@vs%aw%aﬁ? E IR Ugdl g | i fofg £ 9 foig
A TP I HAT 1841 8, AT 3T I A U SHfARaa a1 g1 g E 3R A & I U UgTS &, SR ag uR
Tel IR bt | W1 Ugd fog E T aféror ot ofR 5 fort =rerct § 8iR foig F iR ugart 8 | 98f 9, 98 ag gedt
& 3R 6 fob el <rerdll 8 3IR feéig 6 R ugedi 1 b= a8 ST Hsdll & SR Sféur obl 3R 7 fobeft =rerch 8 eiR foig H
TR Ugadl |1 3fd H, 98 <18 St g 3R 3 forrt Tl § ok foig | R ugadt ol fig | §, Wi o fig A ™R

J9Y &1 g3l 9 UgTT g |

Q38. fig A & g ¢ aw ifea &1 Fa fPa-it g T F B SraxgHar 32
pmarks: 2, nmarks: 0.5

(a) 29 fooeit

(b) 31 fobdit

(c) 34 foptit

(d) 36 foul

(e) 38 fopil

Q39. fig A 3R fig 1 & wear =grraw gt forait 32

pmarks: 2, nmarks: 0.5

(a) 26 Tt
(b) V469 foHl
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(c) 24 Tt
(d) V569 foredt
() S7H J IS T

Q40. afe wiaaTfig c F I A IR fig AP uldm o 8, At ag fig p b A o fpafamnd 32
pmarks: 2, nmarks: 0.5

(a) ST

L

(c) IWR-ufEH

(d) afargd

(e) Gf&or-ufgw

Qa1. draré weft fter AT yrEenait & gt gel 1 "HaArera faver gt & a9t & 1 it Jet &1 srgazor
AT AIRT

A:32, 82, 164, 286, 456, 682
B: 140, 166, 216, 338, 508, 798
C: 400, 410, 435, 485, 567, 689

freafaf@a # ¥ Flea o s teat &1 regavor 78 Fd 82

pmarks: 1, nmarks: 0.25

(a) dhdel C

(b) Shdel A

(c) A 3R c et

(d) B AR c gr=r

(e) 3oTH & P15 e

Directions (42-43): sfrr dter Af@ame 1, 1 3 118 71 § 3R T AF J@ar 7 U Tea GE&AT ¢ A@er |, 1 3R

111 3 ITeTd E&AT & AT GX 3Tt aTell HEATHAL: a, b 3T c §
.5, 6, 8 14, 38 168, 878, 5918

.32, 544, 593, 809, 832, 898, 907

.18, 38, 124, 500, 2504, 15028, 105200

Q42.
e m?=a + 98¢ A feRT AT g/ T g i/
(A) (- + 0.5) = TRoTEH we oiter §1

(B) 10m =c

(C) m +—{b;:2] >c

pmarks: 1, nmarks: 0.25
(a) Sharel (A) 3R (C)
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(b) shareT (B) 31 (C)
(c) shareT (A) 3R (B)
(d) T it
(e) haeT C

Q43. IR y FHEHTT n? -cn+ (2.5a -11) F STTAH A H1 QY T ¢, At A1 7 ¥ Fler a1 REwea w7 31
pmarks: 1, nmarks: 0.25

(a) (y—c)=2°
Ea?rﬂmlﬁﬂaif@'eﬁﬁl

(b)
% 1 HIel Uep qUIieh &

(c) ¥

(@) 1 A I A

(e) (@) 3T (b) T

Directions (44-45): farafaf@a gfara wdfieor # earrqds ufew 3iv A faw 1w geat & saw difaw)
FHAIT 1: a2-7a+d =0

FHIFHIOT 2: b2 —4b + (d-9) = 0

g1 ST FHAIRIOT 1 Fel 'x' 3 'y' & TUT FHRIOT 2 6 el 'x' 3R 'y - x' B

Q44. T T AHNHIOT 2 F 3: T IO HI § AR AT Tt FHIROT & T B A # 1 3 3 , A TR
&A1 A Ffe?

pmarks: 1, nmarks: 0.25

(a) 4

(b)3

(c) 2

(d)o

(e) 3UVF H { g AT

Qas, (d —8) T Al 7 FIfSTT

pmarks: 1, nmarks: 0.25

(a) 49

(b) 125

(c) 36

(d) 81

(e) 256

Directions (46-47): fawafaf@a gfaera wefieor 1 earerqds afew 3k A= fow 7w weal & 3w ffSw)
HHHIOT 1: ax2 + bx +c=0

HHIFIOT 2: dy? +ey+c=0
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&7 ATAT: (i) ¢, 2 V T Teh- 371 3T &A1
(ii) d 31 b 20 & BYEY &X-3ihr 3nTeT HEATT &
(iii)d 11 T 3H g

(iv)b, d & 38w g

(v) ST FHIFOT & FEH DI HT THA &

(vi) VS FeT ITTRAT AT}

(vii)e=b+1

(viii) 3c, b A 3T E

Q46. 'a' FT AT AT HfAT

pmarks: 1, nmarks: 0.25

()13

(b) 14

(c) 12

(d) 10

(e) 15

Q47. “dx e’ FT AT AT HIfTTI

pmarks: 1, nmarks: 0.25

(a) 190

(b) 196

(c) 225

(d) 250

(e) 260

Directions (48-51): sier f&=m IrAT WehYoT 3@ Yot 7eTaT-37eTeT FHAT3T- P, Q 311X R FY F TshT Y TEAT (V-3787
) 30T TsfFat Y TE&AT (X-3787 9X) FY SRATAT L

e SIfSTT: Ife FaTT R & 10 377 TfFAT & A R & T A5 & TIT Hr wifidswdr 40% g1l
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70

50

30

20

10

a ath a+ 2b a+ 3b a+ 4b a+ 5b

p Q R

Q48. F&TT Q # Tsfral Y TE&AT, F&IT R H TSfFAT FY TEIT F71200/3% 21 IS Fa&IT S H TSHT HY TEAT, Fa&TT
Q H TSHI T TEAT T 20% 3110 ¢ 31T Tsfral Fr e, Famq A Tsfral AT F TgHA ¢, A FaTs I

& IsfRaY & Taa Fr milwar sira fAfSw)

pmarks: 1, nmarks: 0.25
37
(a) 247
95
(b) 473
33
(0473
35
(d) 214
a7
(e) 222

Qa9. 7 Faw p i arsforal At FEaT, FaT P F T5H T FEAT F125% 8, A Fap IR QA Fa ol F i
IR AT i)
pmarks: 1, nmarks: 0.25
(a) 15
(b) 25
(c) 20
(d) 10
16 |
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(e)5

111
Q50. I FETRHA 2

A TeTet arel ASfHAT iy wE&aT, Fam Q F Fo FTsfFAr w7
T

pmarks: 1, nmarks: 0.25

(a) 27

(b) 30

(c) 25

(d) 38

(e) 35

Q51. FETT P & aIsfRal Y T&AT, F&IT R & dsfRal Y T=ar #140% 21 e v fA8TH FamR 3P T FAUA: QY
HAE (A 3R B) ST T B, A FAE A H &) ATl 3R vF AsF w oA P e ¥ iR @A s A @
=il 3T v T3 &1 99 [ FA1 741 &1 39 qF) A ' F = a7 A AT, [T 98 T A FE

J XAT HAE AT HFAT B
pmarks: 2, nmarks: 0.5
(a) 20760

(b) 22350

(c) 21350

(d) 22560

(e) 23460

Directions (52-54) : 3T &t eATerqa@® qfew 3R A= e 71w weat & sw dfow:

el AR I o FS ool IR celrieesh & el 32| Iger AR T ZaRT 9 1T TS sl & f@ellel
fashar Fear SRTSR & 3R WA SIRT 5 ITC TelloAt T el TEAT 100 & T IR TG G@aRT o 7T TAh
CelTTEceh & TQellel T Tasha Hed HATH & 3R Tcdeh oTehs! o [Wellel ol [dsh Hed, Tcdeh Telliece & [Wellel
& faha Feg HIaT AT | gl IR o 97T CATTEC e o W ellell shl HEIT, 3Heh GaRT 9 IV Tehal & @il
I HT37.5% & T@ﬂ@méﬁm&ﬁ%f@ﬁa’f@m@m,wwm S 3T STehat & @t hr gear

2

7 205 &) a7 ey 49 7w e o Ravea iy e, TG GINT A 1T Tt & RcilaAt oy Fear &
TR G

& o faae ¥ gorat 8 aur aset 3R asfanat &1 srepare 7:3 § qurwa R A e

162 .
370 &, dvem  # ol A Fo FEA AT

Q52. QYT & GaRT a2 7T CATfees & TRl lal F HET, Al & aRT 9 T AF3! & [Qalal H T&qr & et
yferera it/ 32

pmarks: 2, nmarks: 0.5
(a) 45%
(b) 38%
(c) 40%
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(d) 50%
(e) 48%

Q53. AT I T YA+ w3 F Rl 7 sha 77 120 392 ¥, A it yhR & Rl w1 dwsy Tger A
T 3T AT 317 & iy 1 I AT AT (eamer ST T 3R Tger A Tl confees iR ohd & f@eila
)|

pmarks: 2, nmarks: 0.5

(a) 3500 TI

(b) 4900 TTX

(c) 3900 TTX

(d) 3000 TTX

(e) 5000 TIA
%4qgQmﬁ%mwmﬁ#%mﬁ$qummﬁmwm§$ﬁmﬁ#wymamﬁﬁm

pmarks: 2, nmarks: 0.5

(a) 3:2

(b) 5:3

(c) 1:1

(d) 2:5

(e) 2:3

Directions (55-57): o=t ROl # eaeqds afgv iR A= e 7w weat & sw1 ffSw)

RO 7 Fo TEard & 918 § AR 37 Few H g Hr R s B

HqEGIT IR ES
Q 1
6
2.5 1
3
Q-25 1
3
P 1
=
10 -5 1
2 6
18.75 1
6
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40-5
==, 18.7%'
2 ve e Yeat T Irqaor Flt 8, Y P T AT A1

. ‘ 2.5 -25 P
Qs55. e s@er Q 25 Q=25 B
CI Iy
pmarks: 2, nmarks: 0.5
(a) 3.5
(b) 3.75
(c)4
(d)5
(e) 2.75
Q56. TG R = 5Q - 20 €, @Y R &1 AT AT AT
pmarks: 2, nmarks: 0.5
(a) 3
(b) 8
(c)4
(d)5
(e)2
o afew & weht Femit F stEa 7§, A - S Am Aw HifeT
Q57.
pmarks: 2, nmarks: 0.5
(a) 7
(b) 4
(c)9
(d) 2
(e)1
Directions (58-60): ATTHRI FI LATAIEF TTe€ 3R A e 71w weaAt & 301 ffFrw)
Teh SISy SolelTeh R Sciel ol G 3N Tl & 4:5 o 3TedTcl H 17 ST ¢ | Al 70T b x TS sy feam e
& 3R x el ety g | Gfaenfad oY fqam SITdT 8, At i {101 & ger &1 Il & 3141 57: 60 BT ST |

S 37T TASOT & AT, Saied A [AS0T S TRIAS AT T 108 Aol ha 2

Q58. e 3x FAeh Asor e s g ik adar & 3
fRdT 3mIaeT (usT ) 7) HT FATATE?

pmarks: 2, nmarks: 0.5

(a) 113

(b) 111

(c) 130

(d) 125

(e) 120

Qs59. Jifaa faror 7 ger & A AT Ffarw

pmarks: 2, nmarks: 0.5

fareh g 31 2x el urelt e e S €, At e

19 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

-

(a) 59 T&elT
(b) 36 T
(c) 57 [AeT
(d) 67 f&T
(e) 89 AT
Q60. T TaieT Y = 0.7 AHY & 31 aier 1 37 u AT st7er @Wrel) &, Y ader Y F=1$ AT AT

pmarks: 2, nmarks: 0.5

(a) 150 T&HT

(b) 200 THY

(c) 100 {FT

(d) 130 QFT

(e) 195 QY

Directions (61-63): fAFATor TR TaT & WY &Y YU AT HYU (1) 3R Fo=T (1) faw v | 3ma=hr a7 AuiRa
FOT & B Fle J1/8 FUa Tt #1391 & & e qaieay/smaeas 878

Q61. TG A Teh deh  t ¥ & AT a1 T F TS =TT F1 R% T T foraer | ¢ w1 A1 Hifsre?
FY (1): I o 3 IV o foTT ATUROT ST TR R% FT &3 H ATSTaT A F 10,000 TI T fAaer fham, R 38 sara
%wﬁwoo@wgﬂ

Y (I1): TTE TG A FH TR T Tsheerfer TS T X% $HreT Tt Iy & fow [Faer forar, Ot 38 ga= Ui =r
AT X W 4 Y & foIT ATEROT sTTT R T ded TR UTCd $ITST T 1900 T i sIToT [HeldT & |

pmarks: 2, nmarks: 0.5

(a) T Y T (1) 31 T &) FHUT (11) 3ol T2+ I 3T & & ToIT gITed & |

(b) Y (I1) 3Thel T2T T 3T ol b ToIT TATCH & offohed e (1) 3ohel T2 I 3 &od o ol TS AgT & |

(c) TT AY HUT (1) AT HAT (1) 37hel T FT 3R &t & foIw gATTT B

(d) @It U FATHT U2 T 30T a4 & TIT 3TaeTF &, JfeheT IS 3 U 1ot YT &7 3R &1 & fow
e e g

(e) U (1) 3Tahel T2 T 3T St & foIT TATCT § Afhed U (11) 31her TR&AT T 30X &t & forw qaTeq 78T &1

Q62. T fafirse F1 Y F3a & AT A 31T B iy GaTar T 37T FAA: 5: 2 F1 A FE F QR FA A X G AT
TR CFA FITX + 5 G H Tv€ X &1 81 I T F3 7 am T FT FTAT IS FIA § 3R 1 pm WHFR Q@
FIA 8 TUT C Fael A TS F fT 1 F7ar 8, at el ¢ g@rT ¥ frw 71w v Y g a9 @ o7ve F3at & orad
qTelT FHYT AT HIfAT|

HYUA (1): A T FHT 8/9 AT 16 € H - HhaT ¢ |
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YT (I1): B 3T C & G&TCT T 3T 5:1 &
pmarks: 2, nmarks: 0.5

(a) o AY U (1) 3R T &Y FUT (11) 3ol T2 T IR oY & foIT TATTT & |

(b) Y (I1) 3ol T2 T 3T ol o Tl TATCH & Afehed U (1) 3Thel T2 HI 3T &od & o0 TATCT 8T & |

(c) TT AT AT (1) AT HYT (11) 37ehel T T 30T &1 & [T gATTT &1

(d) AT hUT fATHT T T 30X St o [T 3MaeT &, Afohed IS 3 FUT 31her YT T 3T &of & falT
oTed AL 8

(e) FUST (1) 3Tohol T2 T 3R ST o [T GATCT g Afehed 2T (1) 37hel TR&AT T 3aR &=¥ o foIT e sTgT &

Q63. T gF FHtRIoT few arw §
(i) : VAP x (C + 1) = 24 (C HE® I WH T HEATR)
(iij: (A+X-Y)2=49
A, X AR Y FTar Aa Hifee
FYUA (1) : GHFLOTXm? + Ym? — 2m — 3 = 0 &l (m-1) AR (m+1) §
FUT(IN):A=Y+53X+A=14

pmarks: 2, nmarks: 0.5

(a) T AT U (1) 33 T & HU (11) 3hel T T 3R ot F TolT AT B |

(b) Y (I1) 3ol T2 T 3T ol o ToTT TATCH & Afehed e (1) 3Tohel T2 Fl 3T &of & folT qATCT 8T & |

(c) TT AT AT (1) AT HYST (11) 37ehel T T 30T &l & [T gATCT &

(d) ST hUT fATHT T T 30X a1 o [T 39T &, AfeheT IS 3 U 3rher YT &l 3T &oF & falw
e el g

(e) YT (1) 3Tehol T2oT T 3R &1 o [T GATCT g Afehed 2T (1) 37hel TREAT T 3aX &o¥ & ToIT TaTeT TeT &

Directions (64-66): fote=T &3 3mere 31X AR A earergd® ufew iR faw 71w weet &1 301 fifaw:

&3 3Tl IH EaRT BF 37eT9T-37aT9T eTToradl (P, Q, R, S, T 3R U) Y 92 7w Ry ot ufaerd faavor gafar g1
A T ool AT e 3,60,000 T4 § | WROM & it 7 AT & hreret 7 gfarered gefer 3 At iy o &
el ITARIT gefe ol gRifell & | 73 = ¢ g5 A T Tedsh SATFd A H& Ticither IR TSI

1ot QAT HoT 7 % T = TiAThel 7 %
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30

25

20
15
| I
0 .

| vl | qRatdng® | gagaen
21

LA

---------------- 69
________________ 56.25
20 | a4
________________ 82.25
________________ 32.25

Cld|(nn|(0|D|w

Q64. Ife QX adt & forw afeera gefr 1 ik s & AT wmr g, M1 ¥ F ag Mafa eI wraks @
gfawe A1d Hiferel

pmarks: 2, nmarks: 0.5

(a) 24,300 T

(b) 24,600 I

(c) 25,300 T

(d) 20,000 T

(e) oTH @ I el

Q65. IfE @ #F farw gferera gefar aat awt & v g 8, Al vga ¥ Fag A vfavar IRg@ a¥ Fac Q
¥ gfawe & e 37ax A9 Aifaw)

pmarks: 2, nmarks: 0.5

(a) 20,080 TI
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(b) 27,070 I

(c) 28,080 T

(d) 25,000 TG

(e) 313 T IS =TLT

Q66. TH & P 3 s § AT &Y 9 a1e wfawe F T # yrea Ui i & a¥ & v awqgfer sarer a3 20%
T gT & der | & a¥ a1g wIea st A g fifaw|

pmarks: 2, nmarks: 0.5

(a) 22021.5 3T

(b) 23013.2 9

(c) 22000.4 TG

(d) 22413.6 TG

(e) 313 & IS TRl

Directions (67-69): 1= faT a1 TSR Terar &Y 3rerar-3rerar AR (FE 3 S[eT) A I IreaT-37e197 gahranl (P,
Q, R, S 3T T) EaRT 3 97 Afeea (Coiees + Thsh) Y HEAT Y G2ATAT ¥ AP F LIS 9fge 3T
w2l & IR o]
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—.—];I-g- —T

oy

Q67. 7§ #, T R G@rr A< 75 T3 Y aifecal i Fof WETT, 7S 7 5 @RI A= 7 RS Fr Aot Fr Fer
TEAT § 200% AT Y 3R 7S A R q@RT AN 71§ cenf¥ew A aifecat A Fo wE7T, 7 A s @ERT AN TF
caTf¥es i aifecdl i Fo & ¥ 30T §, @ Mewfaf@a & @ w7 @1 Rwes 7§ # R @ et 7§
CATIECH Y difecd) $Y AT 781 & FhdT 8|

pmarks: 2, nmarks: 0.5
(a) 90

(b) 117

(c) 96

(d) 120

(e) (a) 3 (c) aX=AT

Q68. SToT # P GART It 71§ Fel a1fecal FT140% Cari¥es Hrarfecar 8§ AR p gary 3= 71§ For cenfles arfecar
# W 1/8 HTT @IS § | AR S 7 P GGRT A< 7S F wawS Y aArfeeal H & 25% o g § AT A q @
aelt 1§ For TR Y 1o, P @RI T # I 7E For conRRea 3R AFH Ay e, AN @ A E, F
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AT A 50% A ¢, A ST & Q @RI I 7 Fel connfPes Hrarfeear, 7 # o @rr o= 78 For aifeeai 1
fraar yfaera &2

pmarks: 2, nmarks: 0.5

(a) 50%

(b) 60%

(c) 66.66%

(d) 33.33%

(e) 30%

Q69. 7% #, AT T g@rT A=t 1§ cenf¥ew At afeeal F For e, St 7t F Q @Ry I 7 For arfecar
F I HT AR I ¢, A A H T G@RT A 78 Tl st Y difecal AR ST A T GanT I 78 Fo carfees
&1 arfeeal #1 ~geran @4 taa A ffare) (R o2 8 @ 7 3@RT S 7 9= 78 J6d) fr aifeeat A
EAT > AS A T @R A 1§ Fof AF3) A Aifecdr 3R I8 UF T T&qT H1 o7 33 8t 8)1

pmarks: 2, nmarks: 0.5

(a) 90

(b) 82

(c) 60

(d) 80

(e) 72

Q70. T A T1, T2 31 T3 AT FHY AT & TUA X ¥ T2 ¥ F AT Awverd) §, sia fiat e e v
wwm@ﬁ%ﬁrﬁwé@*&mz%ﬁvﬁmﬁr%, S T Y F 480 AT TR TL, 2 F qEe I
F&mzwqgwﬂ?h%:vﬁvs @QHZWQ???*@@W@QHY@'WW@EW%I T1 3R 73 o faig
O T fRerelt §, ST ¥&2reT 2 ¥ 160 et g & e 71 31T 73 i a7el & ey 71 3ra” v et/ ger 81 73 @R weAw
v#ﬁ‘gowqﬁaﬁﬁﬁmwm(ﬁmmmml

pmarks: 2, nmarks: 0.5

(a) 144

(b) 240

(c) 120

(d) 180

(e) 160

Directions (71-78): Read the passage given below and answer the following questions.

Information technology has revolutionized the modern world, transforming how individuals and
organizations communicate, learn, work, and entertain themselves. From the internet and mobile devices
to cloud computing and artificial intelligence, IT has transformed virtually every aspect of human activity.
As such, it has created new opportunities and challenges, raising questions about privacy, security,
intellectual property, and the digital divide. One of the most significant implications of IT is its impact on
the way we communicate and access information. With the advent of the internet and social media,
individuals can now connect with others, share their ideas, and access vast amounts of information from
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anywhere in the world. This has empowered individuals, democratized knowledge, and enabled new forms
of collaboration and innovation. However, it has also created new risks, such as the spread of
misinformation, cyberbullying, and online harassment.

Another key implication of IT is its impact on the economy and the nature of work. With the rise of
automation and artificial intelligence, many jobs are becoming redundant, while new ones are emerging.
This has led to a widening skills gap and increased demand for digital skills. Moreover, the growing use of
freelancers and remote work has blurred the boundaries of traditional employment, raising questions
about labor rights and the gig economy. As such, policymakers and businesses must work together to
ensure that IT creates inclusive, equitable, and sustainable economic opportunities for all. With the internet
and various software tools, we can now access and process vast amounts of data quickly and efficiently.
This has led to improvements in areas such as healthcare, education, and business. For example, doctors
can now access patient data remotely and collaborate with specialists from around the world, while
businesses can use data analytics to optimize their operations and reach new customers.

However, with the benefits come concerns. One of the biggest challenges is data privacy and security. As
more and more personal information is stored and shared online, the risk of data breaches and identity
theft also increases. In addition, there are concerns about the impact of technology on jobs and the
economy. As automation and artificial intelligence become more prevalent, there is a risk of job
displacement and a widening income gap between those who possess the necessary skills and those who
do not. In addition to its impact on communication and information access, information technology has
also transformed the business landscape. From e-commerce to supply chain management, digital
technology has revolutionized how companies operate and interact with customers. By leveraging data
analytics and machine learning algorithms, businesses can now make data-driven decisions, personalize
customer experiences, and optimize their operations for maximum efficiency.

Q71. What are some of the concerns regarding the impact of IT on the economy and jobs?

(i) IT may create a wider income gap between skilled and unskilled workers.
(ii) IT may lead to the displacement of jobs due to automation and artificial intelligence.

(iii) IT may create a skills gap and a demand for digital skills.

pmarks: 1, nmarks: 0.25
(a) Only (i) and (ii)
(b) Only (iii)
(c) Only (i) and (iii)
(d) All of these
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(e) Only (ii) and (iii)

Q72. What is/are the potential benefit(s) of IT in healthcare?

pmarks: 1, nmarks: 0.25

(a) Doctors can now access patient data remotely and collaborate with specialists.
(b) It has led to the spread of information and clinic installations in cities.

(c) It has created new economic opportunities for individuals and organizations.
(d) It has aggravated the need for digital skills in the healthcare sector.

(e) All of these

Q73. How has the nature of work been affected by information technology?

pmarks: 1, nmarks: 0.25

(a) Information technology has had a negligible impact on the nature of work, as most jobs still require
human labor and cannot be automated.

(b) Information technology has had a largely positive impact on the nature of work, as it has enabled
greater productivity and the emergence of new jobs.

(c) The impact of information technology on the nature of work is difficult to assess, as it varies depending
on the sector and region.

(d) All of these
(e) Only (a) and (c)

Q74. What is one of the benefits of IT in the business landscape?

pmarks: 1, nmarks: 0.25

(a) It has led to the widening of the income gap between different skill sets.
(b) It has revolutionized how companies operate and interact with customers.
(c) It has created new forms of international collaboration and innovation.

(d) It has reduced the demand for digital skills in the job market.

(e) None of these
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Q75. What is one of the biggest challenges posed by information technology?

pmarks: 1, nmarks: 0.25

(a) Cyberbullying and online harassment with the advent of the internet and information technology.
(b) The widening income gap between those who possess the necessary skills and those who do not.
(c) Data privacy and security risks associated with storing and sharing personal information online.
(d) The risk of manual labor becoming redundant due to automation and artificial intelligence.

(e) IT professionals have become some of the most in-demand members of today's labor force.

Q76. What is the most significant implication of information technology on communication and
information access?

pmarks: 1, nmarks: 0.25

(a) It has led to the spread of misinformation and online harassment.

(b) It has enabled individuals to connect with others and share their ideas.

(c) It has created new economic opportunities for individuals and organizations.
(d) It has widened the skills gap and increased the demand for manual labor.

(e) None of these

Q77. What changes has IT brought about in the world of business?

(i) Companies may now tailor customer experiences by using data analytics.
(ii) Technology has changed how businesses run and engage with their customers.
(iii) Digital technology has facilitated e-commerce and supply chain management
pmarks: 1, nmarks: 0.25
(a) Only (i) and (ii)
(b) Only (iii)
(c) Only (i) and (iii)
(d) All of these
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(e) Only (ii) and (iii)

Q78. Which of the following words is most similar in meaning to the word "blurred," as highlighted in the
given passage?

pmarks: 1, nmarks: 0.25
(a) inflated

(b) obscured

(c) abridged

(d) curtailed

(e) dilated

Directions (79-83): Each of the following questions consists of a paragraph, which may contain one
or more grammatical errors. Read the given paragraphs carefully, and then decide how many
errors each paragraph contains.

Q79. Mindfulness meditation is a practice that involves focus one's attention on the present moment and
cultivating a non-judgmental awareness of one's thoughts, feelings, and bodily sensations. Studies shown
that regular practice of mindfulness meditation can reduce stress, improve mood, boost immune function,
and enhance cognitive performance.

pmarks: 1, nmarks: 0.25
(a) Only one error

(b) Two errors

(c) Three errors

(d) Four errors

(e) Five errors

Q80. A diverse workforce brings a variety of perspectives, experiences, and ideas to the table, which can
lead to the more innovation, creativity, and problem-solving. In addition, a diverse workplace can help to
eliminate biases and promote fairness and equality for all employees. Companies that prioritize diversity
and inclusion tends to have higher employee satisfaction, better customer relations, and greater financial
success.

pmarks: 1, nmarks: 0.25

(a) Only one error
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(b) Two errors
(c) Three errors
(d) Four errors

(e) Five errors

Q81. Online learning has become increasingly popular in recent years, offering students the flexibility to
learn at there own pace and as per their own schedule. With a wide range from courses and programs
available, online learning can help individuals gain new skills, advance their careers, and pursue there
interests from anywhere in the world. Online learning can also be more cost effective then traditional
classroom-based education, as it eliminates the need for commuting and provides access to a wealth of free
or low-cost resources.

pmarks: 1, nmarks: 0.25
(a) Only one error

(b) Two errors

(c) Three errors

(d) Four errors

(e) Five errors

Q82. Regular exercise has shown to have numerous physical and mental health benefits, including reducing
the risk of chronic diseases such as heart disease, diabetes, and cancer. Exercise can also help to improve
mood, reduce stress and anxiety, and promote better sleep. By incorporating regular physical activity into
our daily routines, we can improve our overall health and well-being.

pmarks: 1, nmarks: 0.25
(a) Only one error

(b) Two errors

(c) Three errors

(d) Four errors

(e) Five errors

Q83. Technology has revolutionized the way we live, work, and communicate in the modern world. From
smartphones and social media to artificial intelligence and robotics, technology has transformed virtually
every aspect of our lives. While technology have brought many benefits, it has also created new challenges
and concerns. As technology continues to evolve, it is important for individuals and society as a whole to
consider the ethical and social implications of their use.
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pmarks: 1, nmarks: 0.25
(a) Only one error

(b) Two errors

(c) Three errors

(d) Four errors

(e) Five errors

Directions (84-89): There are six sentences given below in the jumbled form. You have to rearrange
the given sentences to make a contextually meaningful paragraph and answer the following
questions:

(A) As he grew older, John's dedication to learning foreign languages in school and on his own became
more apparent, and he continued to expand his knowledge of different tongues and cultures.

(B) Growing up in a household where his parents spoke different languages provided John with a rare
opportunity to immerse himself in different linguistic cultures.

(C) Driven by his unwavering commitment to language learning, John went on to become proficient in
several languages and pursued a career as a highly-skilled translator.

(D) John's experience with learning foreign languages is unlike any other, as he has had a unique
upbringing that allowed him to develop a deep appreciation and fascination for languages.

(E) With his innate talent for language acquisition, John was able to quickly assimilate new vocabulary and
grammar rules, and he relished the challenge of mastering complex linguistic concepts.

(F) The exposure to multiple languages at an early age sparked John's interest in language learning and
instilled in him a lifelong passion for exploring different dialects and linguistic systems.

Q84. Which of the following would be the THIRD sentence after rearrangement?

pmarks: 1, nmarks: 0.25
(@) E
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(b) D
(c)F
(d)B
(e) A

Q85. Which of the following would be the FIRST sentence after rearrangement?
pmarks: 1, nmarks: 0.25

(@F

(b) C

(B

(d)D

(e)E

Q86. Which of the following would be the FIFTH sentence after rearrangement?
pmarks: 1, nmarks: 0.25

(@C

(b) A

(D

(d)B

(e)E

Q87. Which of the following would be the SECOND sentence after rearrangement?
pmarks: 1, nmarks: 0.25

(@)D

(b) F

(0 C

(d)A

(e)B
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Q88. Which of the following would be the LAST sentence after rearrangement?
pmarks: 1, nmarks: 0.25

(@F

(b) E

(c)D

(dC

(e)B

Q89. Which of the following would be the correct rearrangement of the given sentences?
pmarks: 1, nmarks: 0.25

(a) AEDFBC

(b) DBFAEC

(c) BFDECA

(d) DCEABF

(e) FAEBCD

Directions (90-93): In each of the following questions, there are given two independent sentences
containing six words highlighted in bold. These words may or may not be in their correct position.
The sentences are then followed by certain instructions. Read the given instructions and answer
the following questions:

Q90. Find the correct combination of the words that should replace each other to make both sentences
contextually meaningful.

(I) The concert (A) was sold out, so we had to obtain (B) tickets from a scalper (C),

(II) the tickets turned (D) out to be spurious (E), so we had to find a way (F) to get our money back.
pmarks: 1, nmarks: 0.25

() (D)- (B)

(b) (B) - (E) and (C)- (F)

(c) (©)- (D)

(d) (A)- (C) and (B)- (D)
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(e) No replacement required

Q91. Find the correct option to connect the two sentences given above without changing the intended
meaning.

pmarks: 1, nmarks: 0.25
(a) and

(b) but

(c) even

(d) also

(e) when

Q92. Find the correct combination of the words that should replace each other to make both sentences
contextually meaningful.

(I) The park was dismayed (A), and we adored (B) walking around and taking in the reparation(C);
(IT) we were sublime (D) to find out that the main attraction (E) was closed for scenery (F).
pmarks: 1, nmarks: 0.25

(a) (A)- (D)

(b) (A)- (D) and (C)- (F)

() (B)- (E)

(d) (A)- (C) and (B) - (E)

(e) No replacement required

Q93. Find the correct option to connect the two sentences given above without changing the intended
meaning.

pmarks: 1, nmarks: 0.25
(a) however

(b) as well as

(c) although

(d) even after

(e) because
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Directions (94-100): Read the passage given below and answer the following questions.

As I sit down to write my memoir, my mind takes me back to some of the most memorable days of my life.
I remember the day I graduated from college, feeling a sense of accomplishment and relief that four years
of hard work had finally paid off. It was a day of celebration, surrounded by family and friends who had
supported me throughout my academic journey. Another day that stands out in my memory is the day I got
married. I can still feel the warmth of the sun on my face and the excitement in my heart as I watched my
bride walk down the aisle. It was a day filled with joy and love, surrounded by our closest friends and
family. It marked the beginning of a new chapter in my life, one that would bring me countless moments of
happiness and fulfillment.

But perhaps the most memorable day of my life was the day I became a parent. Holding my newborn child
in my arms for the first time, I felt a sense of awe and wonder at the miracle of life. As I looked into my
child's eyes, I knew that my life would never be the same again. Being a parent has brought me more joy,
love, and fulfillment than I ever could have imagined, and that day marked the beginning of a new and
wonderful adventure. While there have been many memorable and happy moments in my life, there have
also been challenges and struggles along the way. One of the biggest challenges I faced was when I lost my
job during a period of economic recession. I remember feeling overwhelmed and uncertain about my
future, wondering how I would support myself and my family. It was a difficult time, but I was able to
persevere by leaning on my loved ones and eventually finding a new job.

Another challenge I faced was when a close family member became ill. It was a time of worry and stress as
we navigated the healthcare system and tried to support our loved ones in the best way possible. It was a
reminder of how fragile life can be and how important it is to cherish the time we have with the people we
love. In addition to these challenges, there have been smaller obstacles and setbacks along the way, such
as financial struggles and personal disagreements. However, [ have learned that each challenge provides
an opportunity for growth and resilience. By facing these challenges head-on and learning from them, I
have become a stronger and more compassionate person.

Q94. What was the most memorable day of the author's life according to the passage?
pmarks: 1, nmarks: 0.25

(a) The day he graduated from college, feeling a sense of accomplishment and relief.
(b) The day he got married, surrounded by friends and family.

(c) The day he became a parent, holding his newborn child for the first time.

(d) The day he lost his job during a period of economic recession.

(e) All of these
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Q95. What did the author realize after a close family member became ill?
pmarks: 1, nmarks: 0.25

(a) How important it is to enjoy the time with the people we love

(b) How important family and friends are in our lives

(c) How important it is to ignore and neglect the healthcare system

(d) How important it is to support our loved ones

(e) How important it is to improve the existing infrastructure

Q96. What lesson did the author learn from the challenges he faced?
pmarks: 1, nmarks: 0.25

(a) Challenges are to be avoided at all costs

(b) Challenges provide opportunities for growth and resilience

(c) Challenges are an indication of failure

(d) Challenges are insurmountable obstacles

(e) Both (a) and (b)

Q97. What was the author's experience on the day he got married?
pmarks: 1, nmarks: 0.25

(a) A day of celebration surrounded by family and friends

(b) Overwhelmed and uncertain about the future

(c) Areminder of how fragile and bad life can be

(d) A time of worry and stress about the future

(e) All of these

Q98. What was the biggest challenge the author faced, and how did he cope with it?
pmarks: 1, nmarks: 0.25
(a) Facing financial struggles and learning to be more resilient and compassionate.

(b) Losing his job during an economic recession and persevering with the help of loved ones.
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(c) Overcoming personal disagreements and growing as a person by facing challenges head-on.
(d) Navigating the healthcare system when a family member became ill and realizing the fragility of life.

(e) None of these

Q99. What does the highlighted phrase "by leaning on" stand for as highlighted in the given passage?
pmarks: 1, nmarks: 0.25

(a) The speaker had a difficult time because he relied too much on his loved ones.

(b) The speaker did not have a difficult time but pretended to have one to gain sympathy.

(c) The speaker had a difficult time but did not seek help from his loved ones.

(d) The speaker had an easy time and only leaned on his loved ones for fun.

(e) The speaker had a tough time but he received support from his family and friends.

Q100. Choose the word from the following options which is the most similar in meaning to the word
“FRAGILE”, as highlighted in the given passage.

pmarks: 1, nmarks: 0.25
(a) vindictive

(b) pungent

(c) gossamer

(d) persistent

(e) splenetic

Directions (101-102): In each of the following questions, a sentence has been divided into four
phrases. These phrases may or may not have been placed in their correct positions. Identify the
correct rearrangement of the phrases to make the sentence grammatically correct and contextually
meaningful, and mark that option as your answer.

Q101. shaped the world we live in today and (A)/ triumphs and tragedies, all of which have (B)/ the history
of humanity is a story of (C)/ offer valuable lessons for the future (D)

pmarks: 2, nmarks: 0.5
(a) ACDB
(b) CBDA
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(c) BCDA
(d) CBAD

(e) No rearrangement required

Q102. mystery and wonder, with billions of (A)/ a burning beacon of light in the vastness of space (B)/ the
universe is an endless expanse of (C)/ galaxies and trillions of stars, each one (D)

pmarks: 2, nmarks: 0.5
(a) CABD
(b) BDAC
(c) DBCA
(d) CADB

(e) No rearrangement required

Directions (103-105): Each of the following questions consists of a sentence with a blank. Choose the
most appropriate phrase from the given options that must fill in the blank to form a grammatically
correct and contextually meaningful sentence.

Q103. Understanding the is crucial for making informed decisions about how to allocate
resources and address global challenges such as climate change.

pmarks: 2, nmarks: 0.5

(a) biological mechanisms of human memory

(b) construction techniques used in ancient civilizations
(c) geologic processes that shape the Earth's surface

(d) economic theories of supply and demand

(e) historical events leading up to the monetary crisis

Q104. A good night's sleep is critical for maintaining , which can have a significant impact on
overall health and well-being.

pmarks: 2, nmarks: 0.5
(a) the ability to select and coordinate with accessories

(b) the internal process that regulates sleep-wake cycles
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(c) the ability to diagnose and fix mechanical problems
(d) the ability to write and execute computer code fastly

(e) the ability to prepare complex and flavorful dishes

Q105. A deep understanding of is essential for success in the field of medicine, where accurate
diagnosis and treatment rely on careful observation and analysis.

pmarks: 2, nmarks: 0.5

(a) the chemical composition of common products
(b) the structure and function of the human body
(c) the principles of modern dance choreography
(d) the history of the ancient medical falsehoods

(e) the intricacies of medical laws and principles
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Solutions

S1. Ans. (c)
Sol.
Logic- Step 1. Multiply 15t and 2% digit and subtract 1 from middle digit after that multiply 4t
and 5% digit.
Step 2. Arranged odd number in descending order then even numbered in descending order
from left to right.
Step 3. Eliminate 1% digit of each number then addition of 204 and 34 digit and put the square of
the sum after that addition of 4" and 5% digit and put the square of the sum.
Step 4. Total sum of 1% and 2™ number and so on.
Step 5. Digit sum of each number and then put the square of the number after that arranged the
same number after the square number.
Input: 28465 79784 63452 34867 93275
Step I: 16330 63632 18310 12742 27135
Step II: 27135 63632 18310 16330 12742
StepIll: 64 64 25 81 01 121 09 81 36 81
Step IV: 128 106 122 a0 117
Step V: 121128 49106 25122 §190 81117

S2. Ans. (a)
Sol.
Logic- Step 1. Multiply 15*and 2% digit and subtract 1 from middle digit after that multiply 4t
and 5% digit.
Step 2. Arranged odd number in descending order then even numbered in descending order
from left to right.
Step 3. Eliminate 1% digit of each number then addition of 204 and 34 digit and put the square of
the sum after that addition of 4™ and 5% digit and put the square of the sum.
Step 4. Total sum of 1% and 2™ number and so on.
Step 5. Digit sum of each number and then put the square of the number after that arranged the
same number after the square number.
Input: 28465 79784 63452 34867 93275
Step I: 16330 63632 18310 12742 27135
Step II: 27135 63632 18310 16330 12742
Steplll: 64 64 25 81 01 121 09 81 36 81
Step IV: 128 106 122 a0 117
Step V: 121128 49106 25122 8190 81117

S3. Ans. (d)
Sol.
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Logic- Step 1. Multiply 15t and 2% digit and subtract 1 from middle digit after that multiply 4t
and 5% digit.

Step 2. Arranged odd number in descending order then even numbered in descending order
from left to right.

Step 3. Eliminate 1% digit of each number then addition of 204 and 34 digit and put the square of
the sum after that addition of 4" and 5% digit and put the square of the sum.

Step 4. Total sum of 1% and 2 number and so on.

Step 5. Digit sum of each number and then put the square of the number after that arranged the
same number after the square number.

Input: 28465 79784 63452 34867 93275

Step I: 16330 63632 18310 12742 27135

Step II: 27135 63632 18310 16330 12742

StepIll: 64 64 25 BL 01 121 09 81 36 81

Step IV: 128 106 122 a0 117

Step V: 121128 49106 25122 §190 81117

S4. Ans. (c)
Sol.
Logic- Step 1. Multiply 15t and 2" digit and subtract 1 from middle digit after that multiply 4t
and 5% digit.
Step 2. Arranged odd number in descending order then even numbered in descending order
from left to right.
Step 3. Eliminate 1% digit of each number then addition of 224 and 3'¥ digit and put the square of
the sum after that addition of 4" and 5% digit and put the square of the sum.
Step 4. Total sum of 1%t and 2™ number and so on.
Step 5. Digit sum of each number and then put the square of the number after that arranged the
same number after the square number.
Input: 28465 79784 63452 34867 93275
Step I: 16330 63632 18310 12742 27135
Step II: 27135 63632 18310 16330 12742
StepIll: 64 64 25 81 01 121 09 81 36 81
Step IV: 128 106 122 a0 117
Step V: 121128 49106 25122 §190 81117

S5. Ans. (b)
Sol.
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Floors Flat A FlatB
12 I (4]
11 R
10 P K

9
8 Q
7 s
6 W
5 U
4
3 T
2
1 X

S6. Ans. (e)

Sol.

Floors Flat A FlatB
12 I (4]
11 R
10 P K

9

8 Q
7 s

5] W
5 U

4

3 T
2

1 X

Except W, all live on same named flat.

S7. Ans. (e)
Sol.

42 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A GET IT ON
Google Play

Addal247)

Floors Flat A FlatB
12 I (4]
11 R
10 P K
9
8 Q
7 s
6 W
5 U
4
3 T
2
1 X
S8. Ans. (a)
Sol.
Floors Flat A FlatB
12 I (4]
11 R
10 P K
9
8 Q
7 s
5] W
5 U
4
3 T
2
1 X
S9. Ans. (e)
Sol.
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Floors Flat A FlatB
12 I (4]
11 R
10 P K

9

8 Q
7 s

6 W
5 U

4

3 T
2

1 X

S10. Ans.(b)

Sol. Option (I)-True-Reason: High court is giving verdict about the people in Delhi, it means they are assuming that
all will follow the rules.

Option (II)-True-Reason: High court is giving importance to mask, they are terming it as “Suraksha Kavach”. Surely,
people will get aware.

Option (III)-False-Reason: Appeal to wear mask has been done, but due to this car will not be less on the road. As
there is not any lockdown or curfew.

S11. Ans. (b)
Sol. B’s brother-in-law i.e., N is son-in-law of T who is V's son-in-law.

V(+)==A(") C(-) E(+)

H() =T(+)

S(-) M(-)

B(+) K(-)=—=N(+)

S12. Ans. (c)
Sol.

V(+)=A() C(-)—-E(+)

) H()==T(+)—S()

Q(-)—W(+)

B(+)

R(-)
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S13. Ans. (c)
Sol. S is sister-in-law of Z.

VEO=A(#) <)

E(+)

Z(-)—H()=T(+)—s()

B(+)
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S14. Ans. (d)
Sol.
Box Pencil
B 48
E 42
A 36
D 30
C 24
F 18
S15. Ans. (e)
Sol.
Box Pencil
B 48
E 42
A 36
D 30
C 24
F 18
S16. Ans.(d)

Sol.Statement (I)-True-Reason: As mentioned in the above statement, after just 17 cases from India, New Zealand
has suspended flights. It clearly means they are aware and cautious too.

Statement (II)-False-Reason: Vaccination is one of the most preventive measures against Coronavirus, but nothing
has been mentioned in above statement. So, it can’t infer.

Statement (I11)-False-Reason: In Above statement, only thing is mentioned about India is New Zealand temporarily
suspended flight from India following a high number of positive coronavirus cases arriving from the South Asian
country. It means cases in India is increasing but we can’t infer that India is among top 3 countries.

S17. Ans.(b)
Sol.Statement (I)-False-Reason: New Zealand has taken the action in surge of increasing cases of coronavirus in India.
It’s not a cold war or tit for tat situation.

Statement (II)-False-Reason: New Zealand has just taken a precautionary measure to control covid-19. So, India will
not take this extreme course of action.

Statement (III)-True-Reason: As at border out of 23 positive 17 are from India. So, if after this temporary suspension
New Zealand will obviously feel safe.

S18. Ans. (a)
Sol.
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6m
16m o
6m
12m
10m
F 8m E Om 8m 8m 8m A

6m D C B

Bm H'I'I.'I.
14m

22m 20m
S$19. Ans. (e)
Sol.

Gm
16m o
Gm
1Z2m
10m
F 8m E Om 8m 8m 8m A

6m D C B

Bm 8m
14m

22m 20m
S20. Ans. (c)
Sol.
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6m
16m o
6m
12m
10m
F 8m E Om 8m 8m 8m A
6m D C B
Bm 8m
14m
22m 20m
S21. Ans. (d)
Sol.
Gm
16m o
Gm
1Z2m
10m
F 8m E Om 8m 8m 8m A
6m D C B
Bm 8m
14m
22m 20m
S22. Ans. (d)
Sol.
C E/ D E/ T B K P N
S23. Ans. (e)
Sol.
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A

G—F

(9]

B
S24. Ans. (c)
Sol.

J

C(*) =R()=B(+)=L(")

k(F) =N =V()

S25. Ans. (b)
Sol.

Days Persons Numbers
Monday R 9
Tuesdav P 2

Wednesday Q 13
Thursday U 6
Friday v 10
Saturday T 8
Sunday 3 12
S26. Ans. (a)
Sol.

Days Persons Numbers
Monday R 9
Tuesdav p 2

Wednesday Q 13
Thursday 1) 5]
Friday v 10
Saturday T 8
Sunday s 12
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S27. Ans. (d)
Sol.
Days Persons Numbers
Monday R 9
Tuesdav p 2
Wednesday Q 13
Thursday 1) 5]
Friday v 10
Saturday T 8
Sunday s 12
S28. Ans. (e)
Sol.
Days Persons Numbers
Monday R 9
Tuesday P 2
Wednesday Q 13
Thursday 1) 5]
Friday v 10
Saturday T 8
Sunday s 12

Except R all of them prepared dishes in even number.

$29. Ans. (a)
Sol.
Days Persons Numbers
Monday R 9
Tuesday P 2
Wednesday Q 13
Thursday U 6
Friday v 10
Saturday T 8
Sunday 3 12
S30. Ans. (e)
Sol.
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S31. Ans. (a)

Sol.

QD ' o

S32. Ans. (a)

Sol.

S33. Ans. (d)
Sol.
Stack C Stack K Stack T
Boxes | Pencils Boxes Pencils Boxes Pencils
G 36
P 30
L 35 u 24
F 28 D 18 ] 25
M 21 A 12 R 20
W 14 5 3] Y 15
S34. Ans. (e)
Sol.
Stack C Stack K Stack T
Boxes | Pencils Boxes Pencils Boxes Pencils
G 36
P 30
L 35 u 24
F 28 D 18 ] 25
M 21 A 12 R 20
W 14 5 B Y 15
S35. Ans. (a)
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Sol.
Stack C Stack K Stack T
Boxes | Pencils Boxes Pencils Boxes | Pencils
G 36
P 30
L 35 u 24
F 28 D 18 ] 25
M 21 A 12 R 20
W 14 s 3] Y 15
S36. Ans. (c)
Sol.
Stack C Stack K Stack T
Boxes | Pencils Boxes Pencils Boxes Pencils
G 36
P 30
L 35 u 24
F 28 D 18 ] 25
M 21 A 12 R 20
W 14 5 3] Y 15
S37. Ans. (d)
Sol.
Stack C Stack K Stack T
Boxes | Pencils Boxes Pencils Boxes Pencils
G 36
P 30
L 35 u 24
F 28 D 18 ] 25
M 21 A 12 R 20
W 14 5 B Y 15
S38. Ans. (b)
Sol.
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C B
3km
Sl dkam
E
(Sonia initial point) Skm A (Rohit initial point)
D
Skm
G 6km
F
7km
|
Skm O
S39. Ans. (d)
Sol.
C B
3km
Sl 4km
E
(Sonia initial point) ~___ 8km A (Rohit initial point)
D
Skm
G 6km
F
7km
I
Skm
S40. Ans. (c)
Sol.
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C B
3km
Sl 4km
E
(Sonia initial peint) 8km A (Rohit initial point)

D

S5km

G 6km
F
7km
I
3km
S41. Ans. (d)

Sol.
Pattern of series A-

32+(72+1)=82
82+ (92+1)=164
164 + (112 + 1) = 286
286 + (132 + 1) =456
456 + (152 + 1) =682
It follows the pattern

Pattern of series B:

140 + (52 + 1) = 166

166 + (72 + 1) =216

216 + (112 + 1) =338

338 + (132 + 1) =508

508 + (172 + 1) =798

It does not follow the pattern

Pattern of series C:

400 + (32 + 1) = 410

410+ 52 =435

435+ (72+1) =485

485 + (92 + 1) = 567

567 + (112 + 1) = 689

It does not follow the pattern
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S42. Ans(a)
Sol.
Pattern of series L.
5, 6, 8, 14, 38, a=158, 878, 5918
+1 +2 +6 +24 +120 +720 +5040
T T T T T T T
1! 2! 3! 4! 5! 6! 7!
Pattern of series I
32, 544, 593, 809, b=834, 898, 907
+512 +49 +216 +25 +64 +9
T T T T T T
g2 72 6? 52 43 32

Pattern of series III.
18X 2+4=40
40XxX3+4=124

124 X 4 + 4 = 500
500 X 5+ 4 = 2504
2504 X 6 + 4 = 15028

15028 X 7 + 4 = 105200
c=40
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Given, m? =+a 4+ 98

m2 = m

m2 = m

m2=16

m=48&-4

For (A). When m = 4, then Zﬂ +05=209

And, 209 is an integer

When m = —4, then % +0.5=-2085+ 05 =-208

And, —208 is an integer

So, (A) is true

For (B). When m = 4, then 10x 4 = 40

And c =40

But when m =- 4, then 10 % —4 = —40

So, we definitely can't say 10m =c

For (C). Whenm =4, then 4 + (8542
18

And, c=40

So, resultant = ¢

When m = -4, then —4 +

And c=40

So, resultant=c¢

So, (C) is true

Only (A) and (C) are true.

=48

(834-42)

5 =40

S43. Ans(e)
Sol.
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Pattern of series I.

5, 6, 8, 14, 38, a=158,

+1 +2 +6 +24 +120

T T T T T

1! 2! 3! 41 5!
Pattern of series IL
32, 544, 593, 809, b=834,

+512 +49 +216 +25 +64

T T T T T
g2 72 6? 52 43

Pattern of series III.

18 X2+4=40

40xX3+4=124

124 X4+ 4 = 500

500 X 5 + 4 = 2504

2504 X 6 + 4 = 15028

15028 X7 + 4 = 105200
c=40

n2—cn+ (2.5a—11) =n2—40n + (2.5 x 158 — 11)
nz—40n+ 384 =0

n(n—24) —16(n—24) =0

n=24&16

So,y=2x24 =48

For (a) (48 — 40) = 8 = 22

So, (a) is true

For (b) Value of = = 17.375 > 16

So, (b) is true

For (c) Value ofﬁ = 3.29 is not an integer

So, both (a) and (b) are true

878, 5918

+720 +5040

1
7!

907

+9

T
32
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S44. Ans. (c)
Sol.
For equation 1, Sum of roots=x +y

Product of roots = xy

Xy = du.(2)

For equation 2, Sum of roots=x+y -x
x+y—x=4

y=4

Product of roots
X(yx)=d-9....3)

Put the value of y in equation (1)
Xx+4=7

x=3

Put value of x and y in eq. (2)
d=12

3z[b2 - 4b + (12-9])] =
3z[b2-3b-b+3]=0
32(b-3)(b-1) =0
rootsare 3 and 1
3zcan'tbe 0

Hence, only two roots are formed
Required value=1+1=2

0

S45. Ans. (e)
Sol.
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For equation 1, Sum of roots =x +y
Xx+y=7...(1)

Product of roots = xy

Xy = du.(2)

For equation 2, Sum of roots=x+y -x
x+y—x=4

y=4

Product of roots

X(yx)=d-9....3)

Put the value of y in equation (1)
X+4=7

x=3

Put value of x and y in eq. (2)

d=12

(d-8) = (12-8)* = 44 = 256

S46. Ans. (c)
Sol.
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From the conditions given in question
possible values of c

c=3,57

Possible values of d

d= 13,17,19

Possible values of b

b=17, 19

here we can't take b = 13 because b is always greater than d
As 3cis greater than b

ifc=3

3c =9 (invalid)

ifc=5

3c =15 (invalid)

ifc=7

3c=21 (valid)

d cannot be 19 because if d =19 then there will be no value of b such that b will be greater
tod

now,

c=7

d=13,17

b=17, 19

Possible value of ¢, d, b and e respectively
(i) 7,13, 17, 18......(1)

(ii) 7, 13, 19, 20 ........(2)

(iii) 7, 17, 19, 20.........(3)
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For the roots to be rational
d(discriminant) will be perfect square
For equation 2

e? - 4dc must be perfect square

Using value from (1)
324-4x13x7=-40

d=<0

Roots are not real

hence, Values are invalid

Using value from (2)

400 -4 x 13 x 7=36

d is a perfect square

Roots are rational number
hence, values are valid

Using value from (3)
400-4x17x 7 =-76
d=<0

roots are not real

hence, values are invalid

For Equation 2
13y2+ 20y +7=0
1392 + 13y + 7y + 7 =0
7
y=—13 1
Smallest root=-1
Now putting in equation 1
a(-1)2+19(-1)+7=0

a=19-7
a=12

S47. Ans. (e)
Sol.
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A =
Addal47

From the conditions given in question
possible values of c

c=3,57

Possible values of d

d= 13,17,19

Possible values of b

b=17, 19

here we can't take b = 13 because b is always greater than d
As 3cis greater than b

ifc=3

3c =9 (invalid)

ifc=5

3c =15 (invalid)

ifc=7

3c=21 (valid)

d cannot be 19 because if d =19 then there will be no value of b such that b will be greater
tod

now,

c=7

d=13,17

b=17, 19

Possible value of ¢, d, b and e respectively
(i) 7,13, 17, 18......(1)

(ii) 7, 13, 19, 20 ........(2)

(iii) 7, 17, 19, 20.........(3)
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For the roots to be rational
d(discriminant) will be perfect square
For equation 2

e? - 4dc must be perfect square

Using value from (1)
324-4x13x7=-40

d=<0

Roots are not real

hence, Values are invalid

Using value from (2)

400 -4 x 13 x 7=36

d is a perfect square

Roots are rational number
hence, values are valid

Using value from (3)
400-4x17x 7 =-76
d=<0

roots are not real

hence, values are invalid

So,
c=7
d=13
b=19
e=20

dx e=13 x 20 =260
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S48. Ans. (b)

Sol.
When 10 more girls in class R then probability of selecting a girl is 40%
then, probability of selecting a boy is 60%
Number of boys in R = 60

60% =60

40% =40

When 10 more girls are added
So,

a+5b=40-10=30

Number of girls in Q =§ x no.of girlsin R =§ x 30 =20

Number of boysin S = E x 20 = 24

Number of girls in § = number of girls in Q = 20

20C,
44C,

Probability of selecting two girls from class S =

20x19
I i P
[44;43] 473

S49. Ans. (d)

Sol.
When 10 more girls in class R then probability of selecting a girl is 40%
then, probability of selecting a boy is 60%
Number of boys in R = 60

60% = 60

40% =40

When 10 more girls are added
So,

a+5b=40-10=30

Number of girls in P = % x40 =10
a+b=10...(1)

a+5bb=30..(2)

On solving the above equation

b=5,a=5

Number of studentsin P = 10 + 40 =50
Number of studentsinQ=20+5+ 15 =40
Required difference = 50 - 40 =10

$50. Ans. (d)
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Sol.
When 10 more girls in class R then probability of selecting a girl is 40%

then, probability of selecting a boy is 60%
Number of boys in R = 60

60% =60

40% =40

When 10 more girls are added
So,

a+5b=40-10=30

Number of student who opt science stream in class R =% % (60 4+ 30) =10

. : 3
Number of girls who opt science stream = px10=3

Number of girlsinQ=3 x 6=18
Total number of studentinQ =18+ 20 =38

S51. Ans. (e)

Sol.
When 10 more girls in class R then probability of selecting a girl is 40%
then, probability of selecting a boy is 60%
Number of boys in R = 60

60% =60

40% =40

When 10 more girls are added
So,

a+5b=40-10=30

Number of girls in class P = % x 30 =12

Number of boys in class P = 40

Number of ways of making a group B from class P = 12C; x 40C; = 6x11x40 = 2640
Number of ways of making a group A from class R = 30C; x 60C; = 15x29x60 = 26100
Required difference = 26100 - 2640 = 23460

S52. Ans. (a)
Sol.
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Let the selling price of each wooden toy sold by Rahul and Ram be Rs. x
Let the selling price of each plastic toy sold by Ram and Rahul be Rs. y
Selling price of each wooden toy = 2 x (selling price of each plastic toys)
x=2y

let number of wooden toys sold by Rahul be 8a

Number of plastic toys sold by Rahul =§ x 8a = 3a

Ba
Number of wooden toys sold by Ram = ——x 3 = 12a

Number of plastic toys sold by Ram = 8a ( equal to the wooden toys sold by Rahul)
Total toys sold by Ram = 100
12a+8a=100

a=5

For Rahul

Number of wooden toys = 40
Number of plastic toys = 15

Selling price of each wooden toy = 2y
Selling price of each plastic toy =y
For Ram

Number of wooden toys = 60
Number of plastic toys = 40

Selling price of each wooden toy = 2y
Selling price of each plastictoy =y

Total plastic toys sold by both =40 + 15 =55
Total Wooden toys sold by both = 100

10055
oo < 100% = 45%

Required percentage =

S53. Ans. (c)
Sol.
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Let the selling price of each wooden toy sold by Rahul and Ram be Rs. x
Let the selling price of each plastic toy sold by Ram and Rahul be Rs. y
Selling price of each wooden toy = 2 x (selling price of each plastic toys)
x=2y

let number of wooden toys sold by Rahul be 8a

Number of plastic toys sold by Rahul =§ x 8a = 3a

Ba
Number of wooden toys sold by Ram = ——x 3 = 12a

Number of plastic toys sold by Ram = 8a ( equal to the wooden toys sold by Rahul)
Total toys sold by Ram = 100
12a+8a=100

a=5

For Rahul

Number of wooden toys = 40
Number of plastic toys = 15

Selling price of each wooden toy = 2y
Selling price of each plastic toy =y
For Ram

Number of wooden toys = 60
Number of plastic toys = 40

Selling price of each wooden toy = 2y
Selling price of each plastictoy =y

Selling price of each plastic toy =y

Selling price of each wooden toys = 2y

2y =120

y =60

Revenue genrated of Rahul = 120 x 40 + 60 x 15 =4800 + 900 = Rs. 5700
Revenue genrataedof Ram = 120 x 60 + 60 x 40 = 7200 + 2400 = Rs. 9600
required difference = 9600 - 5700 = Rs. 3900

S54. Ans. (e)
Sol.
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Let the selling price of each wooden toy sold by Rahul and Ram be Rs. x
Let the selling price of each plastic toy sold by Ram and Rahul be Rs. y
Selling price of each wooden toy = 2 x (selling price of each plastic toys)
x=2y

let number of wooden toys sold by Rahul be 8a

Number of plastic toys sold by Rahul =§ x 8a = 3a

Ba
Number of wooden toys sold by Ram = ——x 3 = 12a

Number of plastic toys sold by Ram = 8a ( equal to the wooden toys sold by Rahul)
Total toys sold by Ram = 100
12a+8a=100

a=5

For Rahul

Number of wooden toys = 40
Number of plastic toys = 15

Selling price of each wooden toy = 2y
Selling price of each plastic toy =y
For Ram

Number of wooden toys = 60
Number of plastic toys = 40

Selling price of each wooden toy = 2y
Selling price of each plastictoy =y

. .40 2
Required Ratio = = = 2 = 2:3
S55. Ans. (b)
Sol.

As, probability of Picking 2.5 is%

Total numbers = 6

So, there will be two number of 2.5

then,

Q-25=25

(As probability is same and it has 6 unique numbers and probability of picking
Q- 2.5 and 2.5 is same)

Q=5
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Series is:
5, 25, 25 B 7.5,
Pattern of the series:

5x05=25
25x1=25
25x15=3.75=P
3.75x2=75
7.5 x25=18.75
P=3.75

S56. Ans. (d)

Sol.

18.75

As, probability of Picking 2.5 is%

Total numbers = 6

So, there will be two number of 2.5

then,
Q-25=25

(As probability is same and it has 6 unique numbers and probability of picking

Q- 2.5 and 2.5 is same)
Q=5

R=5x5-20
R=25-20=5

S57. Ans. (b)
Sol.

As, probability of Picking 2.5 is%

Total numbers =6

So, there will be two number of 2.5

then,
Q-25=25

(As probability is same and it has 6 unique numbers and probability of picking

Q- 2.5 and 2.5 is same)
Q=5
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ATQ,
Q+2.5+Q—2.5+P+4'[‘:';—_5

E+5+P+75+1875=42
P=42-36.25
P=5.75

Required value =

+1875=7x6

4x5.75-3 20
= —_— = 4
3 3

S58. Ans. (b)

Sol.

Let the quantity of milk and water be 4p and 5p respectively
Letx=9a

ATQ,
[[: 4 —‘;X‘?a)+9a] _ 57

Sp-zX9a 60
4p+5a 57
5p—-5a T
4p+5a E
S (1)
Another condition of question
O9p-108=9a
p-a=12...(2)

Now putting value of (2) in (1)

4p+5a _ 57
S(p—a) &0
4p+5a _ 57
%12 &0

4p + 5a=57....(3)

From eq. (3) & (2)

p=12

a=1

Initial quantity of mixture =9p =117 ml
Initial quantity of milk = 52 ml

Initial quantity water = 65 ml

Quantity of mixture sold =x=9a=9ml
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QUICKER APPROACH
Sold = Initial - 108ml Milk Water Total
Initial - Sold = 108ml Initial 4 : 5
Remaining = 108ml Remaining 4 : 5 108 ml

48 ml 60 ml

Final 57 : 60

57 ml 60 ml 117ml
Initial = Final= 117ml, since there is a replacement
X=9ml

Quantitiy of mixture sold = 3x = 27ml
Volume of vessel filled = [(52 —g % 2?) + 3] + [(65 —g X 2?) + 18] =111 cm?3

S59. Ans. (c)

Sol.

Let the quantity of milk and water be 4p and 5p respectively
Letx=9a

ATQ,

[[:4-p—‘;><9a)+9a] _ E
Sp—;X9a 60
4p+5a E
Sp—5a &0
4p+5a E
e (1)
Another condition of question
9p-108=09a
p-a=12...(2)

Now putting value of (2) in (1)

4p+5a _ 57
5(p—a) &0
4p+5a _ 57
5x12 60

4p + 5a=57....(3)

From eq. (3) & (2)

p=12

a=1

Initial quantity of mixture = 9p =117 ml
Initial quantity of milk = 52 ml

Initial quantity water = 65 ml

Quantity of mixture sold =x =9a=9ml
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QUICKER APPROACH
Sold = Initial - 108ml Milk Water Total
Initial - Sold = 108ml Initial 4 : 5
Remaining = 108ml Remaining 4 : 5 108 ml

48 ml 60 ml

Final 57 : 60

57 ml 60 ml 117ml
Initial = Final= 117ml, since there is a replacement
X=9ml

Quantity of milk in the final mixture = (52 —g X 9) +9=57ml

S60. Ans. (c)
Sol.
Let the quantity of milk and water be 4p and 5p respectively
Letx=9a
ATQ,
[[:4-p—‘;><9a)+9a] 57
Sp—;X9a T 60
4p+5a E
S5p—-5a &0
4p+5a 27
e (1)
Another condition of question
9p-108=09a
p-a=12...(2)
Now putting value of (2) in (1)

4p+5a _ 57
5(p—a) &0
4p+5a _ 57
5x12 60

4p + 5a=57....(3)

From eq. (3) & (2)

p=12

a=1

Initial quantity of mixture = 9p =117 ml
Initial quantity of milk = 52 ml

Initial quantity water = 65 ml

Quantity of mixture sold =x =9a=9ml
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QUICKER APPROACH
Sold = Initial - 108ml Milk
Initial - Sold = 108ml Initial 4
Remaining = 108ml Remaining 4
48 ml
Final 57 :
57 ml

Initial = Final= 117ml, since there is a replacement
X=9ml

Let the height of the right circular cylinder be h cm
Volume of right circular cylinder =117 + 37 = 154 cm?3

z—fxﬂ.?xﬂ.?xhzlm
h=100cm

S61. Ans. (a)
Sol.

From statement (I}
Simple interest = Rs 3000

R
10000 x Too X 3 = Rs.3000

R=10%
From this we can't find the value of t

From statement (II)
Let amount he invested be Rs.P

X X
(P x 555 % 4) —P(1+5) + P=1900

From this we can't find the value of t

Water Total
5

5 108 ml
60 ml
60
60 ml 117ml

So, neither statement (I) nor statement (II) by itself is sufficient to answer

S62. Ans. (e)
Sol.
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Let time taken by A and B to complete the work be 2a and 5a respectively
Time taken by A to complete the work is X

B complete the work in EX

C destroys the workinX + 5
Total time taken by all of them to complete the work is 6 hrs.
From statement (I)

Acando gth work in =16 hrs

A completed the work in = 18 hrs.

X=18

C destroyed the completed work = 18 + 5 = 23 hrs.

So, statement (I} alone is sufficient to answer

Statement (II)

Efficiency of B to C is 5:1.

We can't find the time taken by C to completely destroy the work.
Hence, only statement (I) alone can solve the question.
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S63. Ans. (b)
Sol.
From equation (i)
Largest even prime number is 2

C=2

VAP x (2+1) =24
b

Ab x 3 =24

A=8

From statement (I)
Roots of the equation are(m-1) and (m+1)
This statement was wrong

From statemnt (II)

A=8

8=Y+5

3=Y

And

3X+8=14

X=2

Requiredsum=8+3+2=13

Hence, statement (II) alone is sufficient to answer

S64. Ans. (a)
Sol.

Percentage of share of U=100% - (15 + 20 + 10 + 25 + 5)% = 25%
Share of P = % % 3,60,000 = Rs. 54,000

Similarly,
Person Share of stocks

Rs. 54,000
Rs. 72,000
Rs. 36,000
Es. 90,000
Rs. 18,000
Rs. 90,000

=Rl N R == e -
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Let the % increment for both the years be x
Cumulative increment = 82.25%
XX
X+ X+ 0= 82.25
200x + x2 =82.25 x 100
x2+200x-8225=0
x2+23bx -35x-8225=0
x=-235, 35
Negative value cannot be taken because there is increment
x=35
Return from T after 1 year = % % 18000 = Rs 6,300

Return from § after 1 year = % % 90000 = Rs. 18,000
Required sum = 6300 + 18000 = Rs. 24,300

S65. Ans. (c)
Sol.

Percentage of share of U=100% - (15 + 20 + 10 + 25 + 5)% = 25%
Share of P = % % 3,60,000 = Rs.54,000
Similarly,

Person Share of stocks
Rs. 54,000
Rs. 72,000
Es. 36,000
Rs. 90,000
Es. 18,000
Rs. 90,000

SRR
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Return from Q after 2 years = % % 72,000 = Rs. 49,680

Let the % increment for Q is x
Cumulative increment = 699%

X+ X+t = 69

200x + x* = 6900

X*+200x-6900=0

x2-30x + 230x - 6900 =0

x=30,-230

Negative value cannot be taken because there is increment
x=30

Return from Q after 1 year = % % 72000 = Rs.21,600
Required return = 49680 - 21600 = Rs. 28,080

S66. Ans. (d)
Sol.

Percentage of share of U=100%- (15 + 20+ 10 + 25 + 5)% = 25%
Share of P = % * 3,60,000 = Rs.54,000

Similarly,
Person Share of stocks

Rs. 54,000
Rs. 72,000
Rs. 36,000
Rs. 90,000
Rs. 18,000
Rs. 90,000

=N L RSN -=] el -

Return from P = % % 54,000 = Rs. 11,340

Return from § = % % 90,000 = Rs. 39,600
Sum invested = Rs. 11,340 + Rs. 39,600 = Rs. 50,940
20x20
100 ) o = 44%
Compound interest = 50,940 x — = Rs.22413.6

Cumulative interest rate = (20 + 20 +

S67. Ans(e)
Sol.
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Let total number of wooden buckets sold by S in May = x

Let total wooden buckets sold by R in May = xx % =3x

So, total number of plastics buckets sold by R in May = 240 - 3x
And, total plastic buckets sold by S in May = 150 - x

Given, total number of plastic buckets sold by R in May are more than number of plastic
buckets sold by S in May

240 -3x>150-x

S0, 90 > 2x ------ (i)

From (i) 45 = x

Multiply by 3 in both side

135 > 3x

We need —3x, so take ‘—' in both side

—135 = —3x

240 - 135 <240 -3x

105 < (240—3x)

S68. Ans(b)
Sol.
40

Total plastic buckets sold by P in June = 160 x - = 64

And total defective plastic buckets sold by P in June = 64 x % =8

Total non-defective plastic buckets sold by P in June = 64 -8 =56

Total defective wooden buckets sold by P in June buckets sold by = (160-64)x
Total non-defective wooden buckets sold by P in June =96 - 24 = 72

Total wooden buckets sold by Q in June = (72—-56) x % = 24
So, total plastic buckets sold by Q in June = (96 —24) =72
- x100 = 60%

25
m—zil‘

Required percentage =

S69. Ans(c)
Sol.
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Total number of plastic buckets sold by T in May = 4x (120 - 96) =96

So, total wooden buckets sold by T in May = 168 —96 =72

Total buckets sold by T in June = 192

Given, number of wooden buckets sold by T in June = total wooden buckets sold by T in May
and it also a perfect square of even number

So, number of wooden buckets sold by T in June = 72

Only possible value of number of wooden buckets sold by T in June = 100 and 144
Minimum average asked in the question

So, number of wooden buckets sold by T in June should be 144

So, total plastic buckets sold by T in June = 192 - 144 = 48

Required average = 248 - 60

S70. Ans(e)

Sol.
X Y 0« 160km— Z
* :r-: ¥ ®

« —— — —480km — — — ——

Let t1, t2 and t3 is the speed of train T1, T2 and T3 respectively

And distance between station X and Y is 'd" km

We know, when all three train leaves station X for station Y in equal time intervals and
reach station Y simultaneously (at same time), then the difference between time taken by

trains T1 & T2 should be the difference between time taken by trains T2 & T3

d d_d d .
0wz a
. 480 480 .

Also given, ——— = 2 - (i)

And, T3 covered (480+160) = 640 km, when T1 covered (480-160) = 320 km
640 _ 320

So, =

t3 tl

. fil o o d
From (1), T — 5521

Putting value of t2 in (ii)
2t1 =120
t1 =60 km/hr

So, t3 =120 km/hr
(480—160)

70 * 60 = 160 minutes

Required time =

S71. Ans. (d)
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Sol. All statements (i), (ii) and (iii) are correct as they all reflect concerns regarding the impact of IT on the
economy and jobs mentioned in the passage.

S72. Ans. (a)

Sol. Among the given alternatives, only option (a) is correct. While the rest of the statements are incoherent
with reference to the information provided. Refer to the concluding lines of the second paragraph for more
clarity. Doctors can now access patient data remotely and collaborate with specialists from around the
world.

S73. Ans. (b)

Sol. By referring to the information given in the second paragraph, we can infer that information technology
has had a largely positive impact on the nature of work, as it has enabled greater productivity and the
emergence of new jobs. While some jobs may become obsolete, IT has created new opportunities and
transformed how people work, communicate, and collaborate.

S74. Ans. (b)

Sol. Among the given alternatives, only option (b) is correct. While the rest of the statements are incoherent
with reference to the information provided. Refer to the seventh line of the third paragraph for more
clarity.

S75. Ans. (c)

Sol. Among the given alternatives, only option (c) is correct. Refer to the starting lines of the third
paragraph, “One of the biggest challenges is data privacy and security. As more and more personal
information is stored and shared online, the risk of data breaches and identity theft also increases."”

S76. Ans. (b)

Sol. Among the given alternatives, only option (b) is correct. Refer to the mid-lines of the first paragraph
for more clarity. One of the most significant implications of IT is its impact on the way we communicate
and access information. Information technology has enabled individuals to connect with others, share their
ideas, and access vast amounts of information from anywhere in the world.

S77. Ans. (d)

Sol. The correct answer is (d) All of these. Information technology has brought about significant changes in
the world of business. It has enabled companies to streamline operations, reach new customers, and tailor
their products and services to meet individual needs. Refer to the concluding lines of the third paragraph
for more clarity.
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S78. Ans. (b)

Sol. The most similar word in meaning to "blurred" is (b) obscured, as both words suggest a lack of clarity
or definition.

(a) Inflated: enlarged or increased beyond what is reasonable or normal; exaggerated or overblown.

(c) Abridged: shortened or condensed by leaving out some parts or details; summarized.

(d) Curtailed: reduced or limited in quantity, extent, or scope; shortened or cut back.

(e) Dilated: expanded or widened, often referring to pupils of the eyes that have become larger in response
to light or other stimuli.

S79. Ans. (b)

Sol. The paragraph contains two errors:

The first sentence should be "involves focusing one's attention" instead of "involves focus one's attention."
This is because the verb "involve" requires the gerund form (-ing form) of the verb to follow it. In this case,
the gerund form of "focus" is "focusing."

The second sentence should be "Studies have shown" instead of "Studies shown." This is because the
present perfect tense ("have shown") is needed to show that the action began in the past and has continued
up to the present. Without the auxiliary verb "have," the sentence is incomplete and grammatically
incorrect.

S80. Ans. (c)

Sol. The paragraph contains three errors:

"Which can lead to the more innovation and creativity" should be "which can lead to more innovation and
creativity." The use of "the" before "more" is incorrect, as "more" is being used as an adverb.

"Help to eliminate biases" should be "help eliminate biases." The infinitive verb "to" is not needed in this
sentence, as the verb "help" is already being used to convey the intended meaning.
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"Companies that prioritize diversity and inclusion tends" should be "Companies that prioritize diversity
and inclusion tend." The subject "companies" is plural, and so it requires the plural form of the verb "tend."

S81. Ans. (d)

Sol. The paragraph contains four errors:

"there own pace" should be "their own pace" - "there" is used to indicate a place, while "their" is a
possessive pronoun indicating ownership.

"from courses and programs" should be "of courses and programs" - "with a wide range of courses and
programs available"” is the correct phrase.

"and pursue there interests" should be "and pursue their interests" - "there" is incorrect, and it should be
"their" as it indicates ownership.

"cost effective then" should be "more cost-effective than" - "then" should be replaced with "than" to
properly indicate a comparison.

S82. Ans. (a)

Sol. This paragraph contains one error. "has shown" in the first line should be replaced with "has been
shown" to form a complete verb phrase in the passive voice.

S83. Ans. (b)

Sol. There are two errors in this paragraph:

"While technology have brought many benefits" should be "While technology has brought many benefits",
since "technology" is a singular noun and requires the singular verb "has".

"Consider the ethical and social implications of their use" should be "Consider the ethical and social
implications of its use", since "technology" is a singular noun and requires the singular pronoun "its".
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S84. Ans. (c)

Sol. Sentence (D) provides an introduction to the topic, explaining that John has had a unique experience
with language learning. Sentence (B) then provides more information about his upbringing in a
multilingual household, which sparked his interest in language learning. Sentence (F) builds on this,
explaining that exposure to multiple languages at an early age ignited John's passion for exploring different
linguistic cultures. Sentence (A) then describes how John's interest in foreign languages continued as he
grew older, and he studied languages in school and on his own. Sentence (E) elaborates on John's natural
talent for language learning, explaining that he was able to quickly pick up new vocabulary and grammar
rules. Finally, sentence (C) describes how John's passion and hard work led to him becoming fluent in
several languages and even pursuing a career as a translator. The sentences are linked together in a logical
and chronological sequence, with each sentence building on the previous one to provide a comprehensive
overview of John's experience with learning foreign languages. Thus, the correct rearrangement of the
given sentences would be DBFAEC.

$85. Ans. (d)

Sol. Sentence (D) provides an introduction to the topic, explaining that John has had a unique experience
with language learning. Sentence (B) then provides more information about his upbringing in a
multilingual household, which sparked his interest in language learning. Sentence (F) builds on this,
explaining that exposure to multiple languages at an early age ignited John's passion for exploring different
linguistic cultures. Sentence (A) then describes how John's interest in foreign languages continued as he
grew older, and he studied languages in school and on his own. Sentence (E) elaborates on John's natural
talent for language learning, explaining that he was able to quickly pick up new vocabulary and grammar
rules. Finally, sentence (C) describes how John's passion and hard work led to him becoming fluent in
several languages and even pursuing a career as a translator. The sentences are linked together in a logical
and chronological sequence, with each sentence building on the previous one to provide a comprehensive
overview of John's experience with learning foreign languages. Thus, the correct rearrangement of the
given sentences would be DBFAEC.

S86. Ans. (e)

Sol. Sentence (D) provides an introduction to the topic, explaining that John has had a unique experience
with language learning. Sentence (B) then provides more information about his upbringing in a
multilingual household, which sparked his interest in language learning. Sentence (F) builds on this,
explaining that exposure to multiple languages at an early age ignited John's passion for exploring different
linguistic cultures. Sentence (A) then describes how John's interest in foreign languages continued as he
grew older, and he studied languages in school and on his own. Sentence (E) elaborates on John's natural
talent for language learning, explaining that he was able to quickly pick up new vocabulary and grammar
rules. Finally, sentence (C) describes how John's passion and hard work led to him becoming fluent in
several languages and even pursuing a career as a translator. The sentences are linked together in a logical
and chronological sequence, with each sentence building on the previous one to provide a comprehensive
overview of John's experience with learning foreign languages. Thus, the correct rearrangement of the
given sentences would be DBFAEC.
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S87. Ans. (e)

Sol. Sentence (D) provides an introduction to the topic, explaining that John has had a unique experience
with language learning. Sentence (B) then provides more information about his upbringing in a
multilingual household, which sparked his interest in language learning. Sentence (F) builds on this,
explaining that exposure to multiple languages at an early age ignited John's passion for exploring different
linguistic cultures. Sentence (A) then describes how John's interest in foreign languages continued as he
grew older, and he studied languages in school and on his own. Sentence (E) elaborates on John's natural
talent for language learning, explaining that he was able to quickly pick up new vocabulary and grammar
rules. Finally, sentence (C) describes how John's passion and hard work led to him becoming fluent in
several languages and even pursuing a career as a translator. The sentences are linked together in a logical
and chronological sequence, with each sentence building on the previous one to provide a comprehensive
overview of John's experience with learning foreign languages. Thus, the correct rearrangement of the
given sentences would be DBFAEC.

S88. Ans. (d)

Sol. Sentence (D) provides an introduction to the topic, explaining that John has had a unique experience
with language learning. Sentence (B) then provides more information about his upbringing in a
multilingual household, which sparked his interest in language learning. Sentence (F) builds on this,
explaining that exposure to multiple languages at an early age ignited John's passion for exploring different
linguistic cultures. Sentence (A) then describes how John's interest in foreign languages continued as he
grew older, and he studied languages in school and on his own. Sentence (E) elaborates on John's natural
talent for language learning, explaining that he was able to quickly pick up new vocabulary and grammar
rules. Finally, sentence (C) describes how John's passion and hard work led to him becoming fluent in
several languages and even pursuing a career as a translator. The sentences are linked together in a logical
and chronological sequence, with each sentence building on the previous one to provide a comprehensive
overview of John's experience with learning foreign languages. Thus, the correct rearrangement of the
given sentences would be DBFAEC.

S89. Ans. (b)

Sol. Sentence (D) provides an introduction to the topic, explaining that John has had a unique experience
with language learning. Sentence (B) then provides more information about his upbringing in a
multilingual household, which sparked his interest in language learning. Sentence (F) builds on this,
explaining that exposure to multiple languages at an early age ignited John's passion for exploring different
linguistic cultures. Sentence (A) then describes how John's interest in foreign languages continued as he
grew older, and he studied languages in school and on his own. Sentence (E) elaborates on John's natural
talent for language learning, explaining that he was able to quickly pick up new vocabulary and grammar
rules. Finally, sentence (C) describes how John's passion and hard work led to him becoming fluent in
several languages and even pursuing a career as a translator. The sentences are linked together in a logical
and chronological sequence, with each sentence building on the previous one to provide a comprehensive
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overview of John's experience with learning foreign languages. Thus, the correct rearrangement of the
given sentences would be DBFAEC.

S90. Ans. (e)
Sol. All the highlighted words are placed in their correct positions. Thus, no replacement is required.
Concert means a public musical performance or a formal agreement between two or more parties.

Scalper means a person who buys and sells tickets for events, especially sports or music events, at a higher
price than the face value.

Spurious means false or fake, not genuine or authentic.

S91. Ans. (b)

Sol. The correct option to connect the two sentences without changing the intended meaning is (b) "but".
The first sentence talks about obtaining tickets from a scalper because the concert was sold out. The
conjunction "but" in the second sentence introduces a contrasting idea that the tickets turned out to be
spurious, and they had to find a way to get their money back. While the rest options are grammatically and
contextually incorrect.

The sentence thus formed would be: “The concert was sold out, so we had to obtain tickets from a scalper,
but the tickets turned out to be spurious, so we had to find a way to get our money back.”

S92. Ans. (b)

Sol. Among the given options, “(A)- (D) and (C)- (F)” should replace each other to make both sentences
contextually correct.

Dismayed: It means to feel distressed, disappointed, or discouraged by something that has happened, or to
lose confidence or hope in a situation.

Adored: It means to love or worship someone or something deeply and affectionately.
Reparation: It means the act of making amends for a wrong or injury, or the action of repairing something.

Sublime: It means something of outstanding beauty or excellence, inspiring awe or admiration.

S93. Ans. (a)

Sol. The correct option to connect the two sentences without changing the intended meaning is (a)
"however". The first sentence describes the park as sublime and enjoyable, while the second sentence
introduces a contrasting idea that the main attraction was closed for reparation and they were dismayed.
The use of "however" shows the contradiction between the positive experience of the park and the
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disappointment of the closed attraction. While the rest options are grammatically and contextually
incorrect.

The sentence thus formed would be: “The park was sublime, and we adored walking around and taking in
the scenery; however, we were dismayed to find out that the main attraction was closed for reparation.”

S94. Ans. (c)

Sol. Among the given alternatives, only sentence (c) is correct with reference to the context of the given
question. Refer to the starting line of the second paragraph which states that the author's most memorable
day was the day he became a parent, holding his newborn child in his arms for the first time.

S95. Ans. (a)

Sol. Among the given alternatives, only sentence (a) is correct with reference to the context of the given
question. Refer to the third line of the third paragraph, “It was a reminder of how fragile life can be and
how important it is to cherish the time we have with the people we love.”

S96. Ans. (b)

Sol. Among the given alternatives, only sentence (b) is correct with reference to the context of the given
question. Refer to the fifth line of the third paragraph, "However, I have learned that each challenge
provides an opportunity for growth and resilience."

S97. Ans. (a)

Sol. Among the given alternatives, only sentence (a) is correct with reference to the context of the given
question. Refer to the third line of the first paragraph which states that the author's experience on the day
he got married was a day of celebration surrounded by family and friends.

S98. Ans. (b)

Sol. Among the given alternatives, only sentence (b) is correct with reference to the context of the given
question. Refer to the sixth line of the second paragraph, “One of the biggest challenges I faced was when I
lost my job during a period of economic recession.”

S99. Ans. (e)

Sol. The phrase means that during a challenging period, the speaker received support and encouragement
from his family and friends, which helped him to keep going and overcome the difficulties.
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S100. Ans. (c)

Sol. The option that is most similar in meaning to the word "fragile" is (c) "gossamer". The word "fragile"
means easily broken or delicate, while "gossamer" means something that is light, delicate, and filmy in
texture or substance. Both words describe something that is delicate and easily damaged.

Option (a) "vindictive" means having or showing a strong or unreasoning desire for revenge, which is not
similar in meaning to "fragile".

Option (b) "pungent” means having a sharply strong taste or smell, which is not related in meaning to
"fragile".

Option (d) "persistent” means continuing to exist or endure over a prolonged period, which is not similar
in meaning to "fragile".

Option (e) "splenetic" means irritable or bad-tempered, which is not related in meaning to "fragile".

S101. Ans. (d)

Sol. The correct rearrangement of the phrases to make the sentence grammatically correct and contextually
meaningful would be CBAD. The sentence thus formed would be: “The history of humanity is a story of
triumphs and tragedies, all of which have shaped the world we live in today and offer valuable lessons for
the future.”

S102. Ans. (d)

Sol. The correct rearrangement of the phrases to make the sentence grammatically correct and contextually
meaningful would be CADB. The sentence thus formed would be: “The universe is an endless expanse of
mystery and wonder, with billions of galaxies and trillions of stars, each one a burning beacon of light in
the vastness of space.”

S103. Ans. (d)

Sol. Among the given alternatives, option (d) is the contextual option that correctly fills the blank and
relates to the topic of making informed decisions about resource allocation and global challenges.

S104. Ans. (b)

Sol. Among the given alternatives, option (b) is the contextual option that correctly fills the blank and
relates to the topic of the importance of sleep.

S105. Ans. (b)
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Sol. Among the given alternatives, option (b) is the contextual option that correctly fills the blank and
relates to the topic of success in the field of medicine.
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